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Question Number : 1 Question Id : 441009148002 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Six people, M, N, O, P, Q and R, are sitting in a row, facing north. Q sits second from the right end of the line. Only three people sit between Q and N. R is the
immediate neighbour of P and Q. O is not Q's immediate neighbour. Who sits at the extreme right end of the line?

Options :
1. %N
2.%0
3.%Pp
4. M

Question Number : 1 Question Id : 441009148002 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Options :

1.%¥N

2.%0

3.8 p

4. ¥ M

Question Number : 2 Question Id : 441009147984 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33



Each of P, Q, R, W, X, Y and Z was born in a different month viz. January, March, May, July, August, November and December of the same year starting from
January and ending in December. P was born in a month having only 30 days. Y was born immediately after R. Only two people were born between P and Y. Q
was born after W but before X. Z was born before Y. How many people were born before Q?

Options :
1. % One
2. % Two
3. ¥ Three
4. ¥ Four

Question Number : 2 Question Id : 441009147984 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 2.8%

2. % Q0%

3. % 0
4. ¢ JentH &

Question Number : 3 Question Id : 441009148019 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Read the given statements and conclusions carefully. You have to take the given statements to be true even if they seem to be at variance from commonly known
facts. You have to decide which conclusion/s logically follow/s from the given statements.

Statements: All lights are fans. All fans are geysers. Some fans are bulbs.

Conclusions (I) : Some geysers are bulbs.

Conclusions (II) : Some lights are bulbs.

Options :

1.+ Only I follows
2. % Only II follows
3. # Both follow

4. % Neither follows

Question Number : 3 Question Id : 441009148019 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

QDY (HEEISEN BTN BT (ST 5990, AD IS (DFLISEN NS A GTSEIOT BOVS QT ) O €5d) €W
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Options :

1. ¥ T 3¢5 @9 O8N0

2. % 1 Sr(ehad 900800

3. % BO® @I 0N

4. % DB 000

Question Number : 4 Question Id : 441009148023 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
In a certain code language,

A+ B means ‘A is the daughter of B’
A — B means ‘A is the brother of B’
A x B means ‘A is the wife of B’

A+ B means ‘A is the father of B’

Based on the above, how is J related to N if ‘Tx K—L+M +N’?

Options :

1. % Husband's Brother's Wife

2. % Husband's Brother's Daughter
3. ¥ Brother's Wife

4. % Brother's Daughter

Question Number : 4 Question Id : 441009148023 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33



28 0 §& i,
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Options :

1. ¢ 338 B 238
2. % 28 QFNBG $05°0
3. % PR 2rds

4. % S o3

Question Number : 5 Question Id : 441009147980 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

In this question, a statement is followed by two conclusions, numbered I and II. Find out which conclusion is/are true based on the given statement.
Statement : P<Q<R=S<T>X

Conclusion:

1.P=T

IL.X<Q

Options :

1. % Only I is true

2. % Only Il is true

3. % Both I and II are true

4. % Neither I nor I is true

Question Number : 5 Question Id : 441009147980 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

&3 (96, 28 |OEEIS 0TS T OB 1T €95 BOC STRRE ™) Q. R 523 (DEEIS TS0 &) TS0 SBIE S0,

DEES: P<Q<R=S<T>X
o°20:

I.P=T

IL.X<Q

Options :

1. % T35 Debgo

2. % 1 Sr(eha Oeb50

3. % 10805 I Bo&y d&°sen

4.9 100050 11 A D550 5°¢

Question Number : 6 Question Id : 441009147968 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

P, Q, X, Y and Z have different heights. Q is taller than X but shorter than P. X is taller than Y. Z is taller than Y. More than two people are taller than Z. How
many people are taller than Y?

Options :
1. % One
2. % Two
3. ® Three
4.+ Four

Question Number : 6 Question Id : 441009147968 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

P,Q, X, Y 08050 Z 0 B0 e EOR cam) 8. Q @0558 X 50T Sr)mT e ¢ 52 P 0T 3 e (. X 90358 Y §0
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Options :

1. % 2,8%

2. % Q%

3. % b

4. ¢ SeNHSD

Question Number : 7 Question Id : 441009148004 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

In a certain code, 'dogs are loyal' is coded as 'gs er ly', 'loyal friends dogs' is coded as 'ly nd gs', 'are they loyal' is coded as 'er gs ma'.
What is the code for 'dogs'?



(Note: All the codes are two letter coded only.)
Options :

1. # gs

2. % nd

3.¢ 1y

4. % ma

Question Number : 7 Question Id : 441009148004 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2.5 Q0% &, 'dogs are loyal' & 'gs er ly' @, 'loyal friends dogs' & 'ly nd gs' @, "are they loyal' & ‘er gs ma' ©Q §& TS, 'dogs' & &
AEI?

(B0QE: @) & Botk Eore F& e Srled.)
Options :

1. % gs

2. % nd

3.9y

4. % ma

Question Number : 8 Question Id : 441009147964 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Refer to the following number and symbol series and answer the question that follows. Counting to be done from left to right only. All numbers are single-digit
numbers.

(Left)y $ + % 8 41 *2 & £57 6 @3 Q9 # (Right)

How many such numbers are there each of which is immediately preceded by another number and also immediately followed by a number?

Options :
1% 1
2.¥2
3.%83
4. % 4

Question Number : 8 Question Id : 441009147964 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 9 Question Id : 441009147973 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Refer to the given letter, symbol series and answer the question that follows. Counting to be done from left to right only.

Lef)y X D $ £ K @ € © A G $ * S 0 * QS M * £ G I (Righy

How many such symbol are there, each of which is immediately preceded by a letter and also immediately followed by a symbol?
Options :

1.¥ 4

2. %5

3.%3

4. %6

Question Number : 9 Question Id : 441009147973 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

BN IS ©5.830-H508 (363 HOROOD, $SeS ST 109150 DAPETS0 RS0, BELON) OTE I8 0B BB FHB0 Sr(hsH
DA,
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Options :
1.¥ 4



2.%5
3.%3
4. % 6

Question Number : 10 Question Id : 441009148039 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
What should come in place of the question mark (?) in the given series based on the English alphabetical order?

KMR LNS MOT NPU ?
Options :

1. ¥ 0QV

2. % 0QU

3. % ORV

4. % ORU

Question Number : 10 Question Id : 441009148039 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

e300 @3 S|1E50 eSS0 D) (A3 (07§50 (7) S0 A T°ard?

KMR LNS MOT NPU ?
Options :

1. ¥ 0QV

2. % 0QU

3. % ORV

4. % ORU

Question Number : 11 Question Id : 441009148032 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

In a certain code language, ‘COPY” is coded as ‘4268’ and ‘PAID’ is coded as ‘3527°. What is the code for ‘P’ in the given code language?
Options :

1.9 2

2.%3

3.%6

4. %7

Question Number : 11 Question Id : 441009148032 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

28 Q03 86 27, ‘COPY’ Q 4268’ 7 0805 “PAID’ Q 3527 1P F& TGS, @IS §&% 23S’ P & §& de3?
Options :

1.v¥2

2. %3

3.% 6

4. %7

Question Number : 12 Question Id : 441009147988 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Select the pair that follows the same pattern as the one followed by the two set of pairs given below. Both pairs follow the same pattern.

WIE : YGG
IOM : KLO

Options :

1. % JJI:LGL
2. % TPO : VMR
3. ¥ NJN: PGO
4. JJIT: LGV

Question Number : 12 Question Id : 441009147988 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

8o @%522BS BOK 235> HABIED eNIBOT NITFT S @ NIBOT 2365 JOTNFOER. BOD 235" 2T Fo0T NHOT 0.

WIE : YGG
IOM : KLO

Options :

1. % JJI: LGL
2. % TPO: VMR
3. ¥ NJN: PGO



4. ¥ JIT: LGV

Question Number : 13 Question Id : 441009147994 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Based on the English alphabetical order, three of the following four letter-clusters are alike in a certain way and thus form a group. Which letter-cluster DOES
NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-cluster.)
Options :

1.¥ LTM

2. % JRL

3. % HPJ

4. % FNH

Question Number : 13 Question Id : 441009147994 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

00 €08 & |00 eGSO, &2 (B0 e €5 3-0s075T 235 et 28 AR S0 a8er EoEran O ST So° 28
DANTTAIAY, DB IETON. €8 XNEEASTIE ORI @8 8- 2368 E?

(50%: )50 GOTE TENEN/eTNIL NDOWS B €E 3 DTS 537¢3 0 STFING 0.
Options :
1.¥ LT™M
2. % JRL
3. % HPJ
4. % FNH

Question Number : 14 Question Id : 441009147995 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Based on the English alphabetical order, three of the following four letter-cluster pairs are alike in a certain way and thus form a group. Which is the letter-cluster
pair that DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-cluster.)
Options :

1. ¥ PI-LM

2. ¥ NG-IL

3. % RK-NP

4. % TM-PR

Question Number : 14 Question Id : 441009147995 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

€300 98 & 1500 eGSO, &t (S0 et €5 3-0e0T5T 23650 05 28 AR S0 2,86 G0LTon HOAW i so° 28
DXNTATRY, DS IBOTON. €8 DSNPASTIE ORI @ 8- 23¢d DE?

(50%: )0 GOTE TENEN/eTN I HDOWS B @5 3 Do 537¢3 PS03 STBNG 0.
Options :

1.+ PI-.LM

2. % NG-JL

3. % RK-NP

4. % TM-PR

Question Number : 15 Question Id : 441009147958 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

What should come in place of ‘?’ in the given series?

305 251201155113 ?

Options :

1. % 81

2.¥75

3. % 69

4. % 63

Question Number : 15 Question Id : 441009147958 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

QDS BB 7 TS0 D T d?

305 251 201155 1137

Options :

1. % 81

2.9 75



3. % 69
4. % 63

Question Number : 16 Question Id : 441009161469 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Where was the 2024 World Chess Championship held?

Options :

1. # Chennai, India

2. % Moscow, Russia

3. % Dubai, UAE

4.+ Singapore

Question Number : 16 Question Id : 441009161469 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2024 (DN0T TR TFONONRNR DExCh 2380082
Options :

1. % 3T, 8350

2. % Sy, darg

3. % oerad, UAE

4.+ 2005y°0

Question Number : 17 Question Id : 441009161461 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Match the individuals with the positions they are holding, as of January 2025.

Person Position
A. Kristalina Georgieva 1. Managing Director and Chairperson of the International Monetary Fund (IMF)
B. Ajay Banga 2. President of the World Bank Group
C. Borge Brende 3. President and CEO of the World Economic Forum
Options :

1.¥ 1-A, 2-B, 3-C
2. % 2.A,1-B, 3-C
3. % 1.A,3-B,2-C
4. % 3.A,2-B, 1-C

Question Number : 17 Question Id : 441009161461 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2309558 2025 a°¢38 5550 Sd DB SaPNS), DY 236538 0.

358 o
A BT O 0> 1. ©90STEB O (3655 AE (IMF) 302200 BBED s08050 TONEIS
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C. 8 (BB 3. 58S JETPME B €955 SHBASw CEO
Options :

1.9 1-A, 2-B, 3-C
2. % 2.A,1-B, 3-C
3. % 1-A,3-B,2-C
4. % 3.A,2-B, 1-C

Question Number : 18 Question Id : 441009161462 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Match the Nobel Prize winners - 2024 with their countries.

Name Country
1. David Baker A.USA
2. Demis Hassabis B. United Kingdom
3. Han Kang C. South Korea

Options :

1.v 1-A, 2-B, 3-C
2. % 2.A,1-B, 3-C
3. % 1-A,3-B, 2-C
4. % 3.A,2-B, 1-C

Question Number : 18 Question Id : 441009161462 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2024 SZ3S 225700 DB T8 BFOS 235HS505.



28 ©¥o
1. BA& B85 A.USA
2. BROD DD B. S B 80AtSo
3. 35S s*oh C. %86 T8O

Options :

1.¥ 1-A, 2-B, 3-C
2. % 2.A,1-B, 3-C
3. ¥ 1-A, 3-B, 2-C
4. % 3.A,2-B, 1-C

Question Number : 19 Question Id : 441009161463 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Match the Nobel Prize categories with their respective winners for 2024.

Name Categories

1. Geoffrey Hinton A. The Nobel Prize in Physiology or Medicine 2024
2. Demis Hassabis ~ B. The Nobel Prize in Chemistry 2024

3. Victor Ambros C. The Nobel Prize in Physics 2024

Options :

1.v 3-A,2-B, 1-C
2. % 1-A,2-B, 3-C
3. % 3-A,1-B, 2-C
4. % 2.A,3-B, 1-C

Question Number : 19 Question Id : 441009161463 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2024 STBS 235700 ST 3¢5 HODOES DB 235135 )0B.

D& STren
1. 3D oS A. DBATOE B DEVSS’ SBS 2TV 2024
2. BOD TIDD B. 3RS’ SBS 35050 2024
3. DEB oS C. TBE F(N0S STZBS 235705083 2024
Options :

1.¥ 3-A,2-B, 1-C
2. % 1-A,2-B, 3-C
3. % 3.A,1-B, 2-C
4. % 2.A,3-B, 1-C

Question Number : 20 Question Id : 441009161488 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which ministry launched Phase III of the capacity-building initiatives to boost digital governance under the Digital India vision in September 2024?
Options :

1. # Ministry of Finance

2. ¥ Ministry of Communications

3. % Ministry of Electronics and Information Technology

4. % Ministry of Education

Question Number : 20 Question Id : 441009161488 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

B3OS 0BT V& 180CS, GBS HSBLS I DOWETA. 0P T2 SESEXTOES’ 2N RS s07Ch5 9% a0b 20246
ErPS0DODS 0|36 ¢ TP DE?

Options :

1. % &388 Ho(edeh § T

2. % 30 TAN 0|36 ¢ TP

3. ¢ 58 08350 BIYDIAS Bosm) 28 S00(ed¢h § 7o

4. % ey 036 § TP

Question Number : 21 Question Id : 441009161487 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

SpaDeX mission of ISRO is a cost-effective technology demonstrator mission for the demonstration of which of the following using two small spacecrafts that
were launched by PSLV?

Options :

1. % Mars rover technology

2.+ Space docking technology

3. % Asteroid deflection technology

4. % Lunar exploration technology



Question Number : 21 Question Id : 441009161487 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

ISRO 58 SpaDeX AR O 2.8 5°q) -0 80 0838 (D58)0° AS. PSLV &3 50° (DE3TPA0223S Bok D) @088 S8
&HBTHOD (80 ¢3S BAR (HB0V@IE 1O STI0IB0E?

Options :

1. % 3585 855 Bosey 08

2. ¢ ) @8oh Bz 0

3.8 (5350 DB D ArOTBE
4. % 500G 9400 roTeseh

Question Number : 22 Question Id : 441009161476 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which of the following is/are components of the PM Electric Drive Revolution in Innovative Vehicle Enhancement (PM E-DRIVE) Scheme 2024 as of January
2025?

A) Demand incentives for e-2W, e-3W, e-ambulances, e-trucks, and emerging EV categories.
B) Grants for the establishment of an electric vehicle manufacturing plant in the private sector.
C) Creation of a network of charging stations and upgradation of testing agencies.

D) Creation of tax rebates for individuals purchasing electric vehicles.

Options :

1.+ Aand C only

2. % CandD only

3. % Bonly

4. % A, Band Conly

Question Number : 22 Question Id : 441009161476 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2309658 2025 T°¢38 PM D[ 85 B 85055AS BS 25") ¢3S IarES SIS IR0E (PM E-DRIVE) 2365 202465’ (808 DE/D 2.8 2750?
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Options :

1. ¢ A 08050 C Sr(ehad

2. % C X805 D S ebd

3. % B3¢

4. % A, B B0 C Sr|ehad

Question Number : 23 Question Id : 441009161481 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

What is the monthly stipend under the Pujari Granthi Samman Yojana, announced by Arvind Kejriwal in December 2024 for Hindu and Sikh priests?
Options :

1. ¥ 210,000

2. % 212,000

3. % 15,000

4.+ 218,000

Question Number : 23 Question Id : 441009161481 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

&025 202465 ©05D0E F S (HEE30DS a8 (OB DTS TBresed 80 0T BN DEVY, JrerHed BT ST
QONNOE DOd?

Options :

1. % 210,000

2. % 212,000

3. % 215,000

4. 318,000

Question Number : 24 Question Id : 441009161483 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Who has been appointed as the chairperson of the newly constituted Standing Committee of the Inter-State Council in November 2024?
Options :

1. # Rajnath Singh

2. ¥ Amit Shah



3. ¥ Nitin Gadkari
4. % Arun Jaitley

Question Number : 24 Question Id : 441009161483 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

350206 202465 TSP DT TS 9055-T7( R 00 0G0 E0E3 THHEIST a3 DOHASIEAST5S?
Options :

1. % oreSord doh

2. ¢ NS ar

3% B8 1586

4. % e85 3¢

Question Number : 25 Question Id : 441009161473 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Who was appointed as the 26th Chief Election Commissioner (CEC) of India in February 2025?

Options :

1. # Rajiv Kumar

2. % Sukhbir Singh Sandhu

3. ¥ Gyanesh Kumar

4. ¥ Vivek Joshi

Question Number : 25 Question Id : 441009161473 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2PBESTEE 2685 10T IDYLES EANE (CEC)T D295 202565 eI DODESOSTIED?
Options :

1. % or8 $0s50°0

2. % PG oA Hod

3. ¥ R0 808550

4. % D35S

Question Number : 26 Question Id : 441009161845 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

What is the primary purpose of the 164 Shakti teams constituted by the Andhra Pradesh Police?

Options :

1. # Traffic regulation and road safety

2. # Cybercrime investigation

3. ¢ Prevention of crimes against women and children

4. % Monitoring economic offenses

Question Number : 26 Question Id : 441009161845 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

SOAIITT FODN DTN T 164 38 290Te> TINEY (FFHNE &TF0 DMES?
Options :

1. % (£ QODH0(ehen B0 Y 23(¢3¢b

2. % 220 B dT°Oe

3. ¥ 03rFen SHBAW DV BT AeTBe

4. % 0% TT e HB5S8 03¢0

Question Number : 27 Question Id : 441009161841 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Match the winners of ISHA Foundation awards ((in July 2024) from Andhra Pradesh with their respective districts for cultivating various paddy varieties through
natural farming.

Farmers Districts

(A). Y Bapatla Rao (i) Guntur

(B). Ranjith Kumar (ii). Krishna

(C). G Ramu (iii). West Godavari
(D). B Durga Rao (iv). Srikakulam
Options :

1.¥A—i,B—ii, C—iii, D~ iv
2. % A—ii,B—iii, C—i,D —iv
3. % A—iii, B—iv, C—ii, D—i
4. % A—iv,B—ii, C—i, D —iii



Question Number : 27 Question Id : 441009161841 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

D23 HFITON0 T $T° DA BT 58 B5° HOGODSOCNE O[T H0EG ISHA FOTAS 057Ee> DFeheredd (278 2024 S°)
8 BTOS HBFD 0.

Behoen 20
(A).D.23708) T°) (i) (OO

(B). 5023 503570 (ii). 8

(C). B.0°3» (iii).P)e0 Fer98
(D).8).COFTT° (iv). B350
Options :

.Y A—i,Bii,C—iii, D iv
2.% A ii,Biii,C i, D iv
3.% A i, B—iv, C—ii, D i
4.% A iy, B ii,C i, D —iii

Question Number : 28 Question Id : 441009161851 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which mobile application, aimed at enhancing women's safety, was announced by Andhra Pradesh’s State Home Minister Vangalapudi Anitha during
International Women’s Day celebrations in Vizianagaram district?

Options :

1. % Raksha
2. ¥ Shakti

3. ¥ Suraksha
4. % Nirbhaya

Question Number : 28 Question Id : 441009161851 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

D230HSHGE0 22’ 2380 00ST° AN seFF™ BS'eh Io5 TcE HOBSIOM SO(BINTT TP TFTODO0(E SOBDIG eeh sreresed
BB DOT OL0E D TBS ©VEASD (HESB0T5?

Options :

1. % 88

2.v %8

3. % S

4. % QA%

Question Number : 29 Question Id : 441009161848 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Who among the following was honoured with the Global Indian Award 2024?

Options :

1. ¢ Sadhguru

2. % Baba Ramdev

3. % Anna Hazare

4. % Narendra Modi

Question Number : 29 Question Id : 441009161848 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

808 50" F2S R0BOHNS 95E 2024 & DSED He5),B0TIDTS?
Options :

1. B

2. % 2rey U0

3. % @rr) el

4. % 3B0(& Ird

Question Number : 30 Question Id : 441009161839 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

As per the given table, match the names of concerned departments with their duties & responsibilities in case of a heat wave in the state as per Andhra Pradesh Heat Wave
Action Plan 2024 of Andhra Pradesh State Disaster Management Authority (APSDMA).

Department Duties & Responsibilities
(A). Rural Development Department (i) Wide circulation of Heat wave alerts throt
(B). Animal Husbandry Department (ii) Encourage employers to shift outdoor wol
(C). Labour & Employment Department (iii) Reschedule of working hours to avoid inte
(D). | & PR Department (iv) Display posters and distribute pamphlets

Options :



1. % A—i,B—iii, C—ii, D —iv
2. % A—ii,B—iii, C—iv,D—i
3.¥ A—iii, B—iv,C —ii, D —1i
4. % A—iv,B—iii,C—ii,D—1i

Question Number : 30 Question Id : 441009161839 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

QDS HEE (D580, BO(SINTT TR DH) DV 5570 e07rdes (APSDMA) BBy, @0BDTT 21 IS irgS DS 2024 (D580 o206’ 5reS
S 50HI0DSN I H0D0HS V2FMre DEH T9¢3 VDD & PRSBSOS HBN© 0.

YD AENEN & 2rd§eden
A). PETDSYD T @) P @ HTHOS FODITAH N
(B). JHI0SLE 7o (ii) P @0 HHAH0S 2ErS0N SO
(©). 52828 SHOON G F°D (iii) 5 ITOL 2D (PR Erardd
(D). I & PR Qarifo (iv) (TS SHBO5N SNPFTS BOE IS’
Options :

1. % A—i,B—iii, C—ii, D —iv
2. % A—ii,B—iii, C—iv,D -1
3.9 A—iii, B—iv,C—ii,D -1
4. % A—iv,B—iii, C—ii, D i

Question Number : 31 Question Id : 441009114128 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements about technology and air pollution are correct?

1. Technological advancements have contributed to increased air pollution due to higher levels of travel and transportation.
2. The primary pollutants released from transportation include ozone, lead, nitrogen oxides, and carbon monoxide.

3. Burning fossil fuels for transportation has minimal impact on human health.

Options :

1. % Only 1 and 2 are correct
2. % Only 2 and 3 are correct
3. % Only 1 and 3 are correct

4. % 1,2, and 3 are correct

Question Number : 31 Question Id : 441009114128 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

FOBBEH DO TON FENIL0 HB0D o0& T3S’ HDB S (HEEISEN D?

1. ©OE T0N (05 DB BT SPBEIOM TPON SN0 DEHTIE 0TRE HBHSeN ESFPSITFom..

2. ST H0E DESTDS (BPRNE 52NN SETOES’ 8,87, D0, DSBS SBIR HBOM S°6)S IrerB)E G om.
3. Sarer 800 Feres YOO SDOBOTIR0 SO 53 eEH0D 85036 (D2TS0 GOLNOR.

Options :

1. ¢ 1 08050 2 S DT

2. % 2 30805 3 S0 OB

3. %

1 58050 3 SRS HBSE

4. % 1,2, 0805 3 OB

Question Number : 32 Question Id : 441009114130 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
With the growth of cyber technologies, many cases of cyber crimes are reported. Match each cyber threat with its correct description:

Cyber Threat Description
A) Hacking 1) Fraudulent attempts to obtain sensitive information
B) Phishing 2) Malicious software that locks data and demands payment

C) Ransomware  3) Unauthorized access to or manipulation of data

Options :

1. ¥ A-1,B-2,C-3
2. % A-2,B-3,C-1
3.9 A-3,B-1,C-2
4. % A-1,B-3,C-2

Question Number : 32 Question Id : 441009114130 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33



8 By o) DEHNSOE, 9T 200 TT°e0 SR 00. (963 2208 510596 Q) IBS DHSS SO YJod:
FRRAISBWON FANNTo1:1)

A) Ss8oh 1) IS0 (HANTYOS NDYSRS DIFTTR), FO3e0

B) daoh 2) B30 5 TOHEO0 B350 TO0NED BSr0& T FAEETS @"%35
) T°RIDRE  3) Ber ABE) @IOTE |35 S BEFQ &°B0XT8) TDANEO

Options :

1. % A-1,B-2,C3

2. % A2, B-3,C-1

3.v A-3,B-1,C-2
4. % A-1,B-3,C-2

Question Number : 33 Question Id : 441009114131 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT a recommended practice for staying safe on social media?

Options :

1. % Using strong passwords for security.

2. ¥ Verifying information before sharing.

3. % Accepting friend requests from unknown people without caution.

4. % Being cautious while sharing personal and sensitive information.

Question Number : 33 Question Id : 441009114131 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

FAS NAOIFS” 0BE S0P 05erdE 808 ¢3S DaFPSd) TBOH IPS HE?

Options :

1. % 25(¢3¢5 §00 2O RSP GHTRONEG0.

2. # JX7er0rQ) DOTNER 00 B9NEB0TISO0.

3. ¢ SAS 2SrEh BEOT @IHBDH S5O D0 (0& B LD 8600
4. % 358565 308350 MY BTN DXTTTTR), DOTHEIREIN Y 23K E0ChE0.

Question Number : 34 Question Id : 441009114127 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT a primary objective of the government's policy to use technology?

Options :

1. # Enhancing the delivery of citizen services.

2. % Strengthening defense and national security.
3. ¢ Reducing the need for government personnel.

4. ¥ Investing in wireless technologies and mobile applications.

Question Number : 34 Question Id : 441009114127 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
808 ¢3S’ FOTRE DB, GITWFAOTOR 192065 5 DGTSOS PR ©5.50 SAE IE?

Options :

1. % PSS DOV AHISTIS0

2. % 5569 OO 205 59855 S 250 TONSO.

3.9 (02065 £ VYO @9IITA) oS0.

4. % IEBV BS) 2 HOAN BNBO @RTAIS ENHG EISO.

Question Number : 35 Question Id : 441009161499 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which of the following type of carbohydrate is present in starch?

Options :

1. % Monosaccharides

2. ¥ Oligosaccharides

3. ¢ Polysaccharides

4. % Disaccharides

Question Number : 35 Question Id : 441009161499 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S’ B 0T 28 )2 BE S50 DE?



Options :

1. % JrS'3EBCD (Monosaccharides)
2. % 2,OFFEB A (Oligosaccharides)
3. ¢ POJEB D (Polysaccharides)
4. % TEDCED (Disaccharides)

Question Number : 36 Question Id : 441009161500 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
In the context of human physiology, match the blood components with their respective names.

Blood components:
1. Erythrocytes

2. Leukocytes

3. Thrombocytes

Names:

A. White blood cells
B. Platelets

C. Red blood cells

Options :

1. ¥ 1-A,2-B, 3-C
2.v¥ 1-C, 2-A, 3-B
3. % 1-B,2-C,3-A
4. % 1-A,2-C, 3-B

Question Number : 36 Question Id : 441009161500 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

S537368 $BBE TR DOBBYOE, 38 23Perd 3°¢3 D00 IS DO )0A.

8805°D evomen:
1 QOIS RED
2. rgERED
3. 1505 RED

28:

A. B 88 Seren
B. 8B

C. S B8 Sezeen
Options :

1. % 1-A,2-B,3-C
2.v1-C, 2-A, 3-B
3. % 1-B,2-C, 3-A
4. % 1-A,2-C, 3-B

Question Number : 37 Question Id : 441009161506 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Of the following bacteria, causes pneumonia.

Options :

1. # Streptococcus thermophilus

2. % Haemophilus influenzae

3. # Lactobacillus spp

4. ¥ Escherichia coli

Question Number : 37 Question Id : 441009161506 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

1Bo& e s8Bosrexs’, IEDIOTED SBE90YH0E.

Options :

1. % L@@‘?éf\) C,S&‘gibefo (Streptococcus thermophilus)

2. ¥ IOV AKD)_D023° (Haemophilus influenzac)

3. % Q)"’%GZS"?\)QF@ spp (Lactobacillus spp)

4. % DIBQOS> &S (Escherichia coli)

Question Number : 38 Question Id : 441009161493 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

If a conservative force is acting on an object, which of the following quantities remains unchanged or conserved for the object?
Options :

1. % Total kinetic energy

2. % Total potential energy



3.+ Total mechanical energy

4. % Total linear momentum

Question Number : 38 Question Id : 441009161493 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

28 SNYD 2.8 DOBE S 20 (50238 5638 £5.)) DATNO0E, 80B DBSIFETOES A SIB0 B $5:WY §0 H0B S 0tI23c0S0E?
Options :

1. % 0o K 5§

2. % [0S0 FTAOHO $§

3. ¥ JnBo ASro(e38 ¥8

4. % 3080 OJ0HE SN0

Question Number : 39 Question Id : 441009161492 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

What is dark matter primarily made of, according to current scientific understanding?

Options :

1. # Baryonic particles

2. ¥ Neutrinos

3. ¥ WIMPs (weakly interacting massive particles)

4. ¥ Electromagnetic radiation

Question Number : 39 Question Id : 441009161492 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

(R0 T V0D SRS (D530, 9 DTG0 (DTSOM BAS SO TADDB0E?
Options :

1. % 283308 Segren

2. % Sege3STen

3. % WIMPEX (0057501 D088 TOT 238 Segen)

4. % D000 N8B0

Question Number : 40 Question Id : 441009161495 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

What is the role of Barium Nitrate (Ba(NOs)2) in fireworks and fountains?

Options :

1. # Itacts as a fuel for combustion.

2. # It produces a blue color in the flames.

3. % It is an oxidizer that produces a green color in the flames.

4. % Tt produces a red color in the flames.

Question Number : 40 Question Id : 441009161495 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2PEIOO0TT SO OBV’ Z3BAHO JIBE (Ba(NOs):) (€5 d¢3?
Options :

1. % 360 A8 Q0HS0MT HATNOE.

2. % 38 06 DO S0MH e 1B TR0,

3. ¥ 20 @8)E30, 8O HOLS BHoDS) S0HD teh 1B TROA.
4. % 20 20O DN SO s 1B TR0,

Question Number : 41 Question Id : 441009161868 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which temple, renowned for its intricate carvings and temple complex consisting of three shrines dedicated to Lord Shiva, Lord Vishnu, and Lord Veerabhadra,
is an example of Vijayanagara architecture?

Options :

1. # Jagannath Temple
2. % Kedarnath Temple
3. ¢ Lepakshi Temple

4. % Somnath Temple

Question Number : 41 Question Id : 441009161868 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

DBANSHS QT°69 FOE GTeTSear AOT, FoI0, Ded BN DB23CNBE 080 TONNAN Soch) HOATOS ErBS SIS
e yen $HBAN eeAD DN AT (DI TOAS &000 E?

Options :



1. % 230800°),8 8O0
2. % b SO0N0
3. ¥ SBard soodho

4. % PFHTE 8HON0

Question Number : 42 Question Id : 441009161874 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

The Telangana Peasant Armed Struggle officially concluded in which year?

Options :

1. % 1948

2. % 1950

3.91951

4. % 1953

Question Number : 42 Question Id : 441009161874 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

B0 BP0 PN FT°E0 9HSBEOM &) 5055506’ SNAVOE?

Options :

1. % 1948

2. % 1950

3.9 1951

4. % 1953

Question Number : 43 Question Id : 441009161867 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

The Rudreswara Temple (Ramappa Temple), built in 1213 AD by was constructed under the rule of which Indian empire?
Options :

1. # Chola Empire

2. % Vijayanagara Empire

3. ¢ Kakatiya Empire

4. ® Hoysala Empire

Question Number : 43 Question Id : 441009161867 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

18.51213 & QB0 KITH IS e0H0 (T2 SDANO0) &) 2TBEBAD {5235 OIS ABL05DG0E?
Options :

1. % 3% (S0

2. % JBASHY J°eore350

3. ¥ SESOSH (S350

4. % J0ADOO (2350

Question Number : 44 Question Id : 441009161869 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Andhra Pradesh State Reorganization Act, which resulted in the formation of Telangana as a separate state, came into effect in which year?
Options :

1. % 2013

2.9 2014

3. %2015

4. % 2016

Question Number : 44 Question Id : 441009161869 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

BOOME (HB5E T DO DB )BT, OBV WO|BHTT T1 A DG S3IVESE 50 & H0S5S B0 @8 SDI0H?
Options :

1. % 2013

2.v¥2014

3. % 2015

4. % 2016

Question Number : 45 Question Id : 441009161870 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which political group led the Srikakulam Uprising (or the Srikakulam Revolt) of 1967?

Options :



1. # Indian National Congress

2. % Communist Party of India (Marxist)
3. # Telugu Desam Party

4. % Janta Dal

Question Number : 45 Question Id : 441009161870 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

1967 °¢3 |FSHE0 DRSO (B (FSHE0 SEiHren)8 araDdEe S0 0D Tr3§ad HF.0 AE?
Options :

1. % 235¢5 230D SPOAR

2. ¢ 27565 E508R 18 (S582.)R)

3. % Benth Bio >

4. % 33 O¥

Question Number : 46 Question Id : 441009161642 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which dynasty emerged in the region of Gujarat and Saurashtra during the Post-Gupta period?

Options :

1. ¥ Maitraka

2. % Pallava

3. # Chalukya

4. % Rashtrakuta

Question Number : 46 Question Id : 441009161642 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

DN 3088 50 H220°E HBAM T (00’ &) T°e390¥0 YN0 DV0E?
Options :

1. Q58

2. % D05

3. % org0Eg

4. % oo QEFE

Question Number : 47 Question Id : 441009161639 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which Indo-Greek ruler is credited with the introduction of Hellenistic culture and issued coins depicting Indian deities?
Options :

1. % Menander I

2. % Demetrius

3. # Antialcidas

4. % Agathocles

Question Number : 47 Question Id : 441009161639 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

TTBIVE D003 9BQ (D35, 2SO Bdehered) DBEBOT T DI TS ROE-HZL FOIOCE DSK?
Options :

1. ¥ 0D 1

2. % &AJE3AHR

3. % O5r0e305rd )R

4. % PSR

Question Number : 48 Question Id : 441009161640 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which of the following dynasties succeeded the Mauryan Empire in the Deccan region?

Options :

1. % Shungas

2. ¥ Satavahanas

3. ¥ Kushanas

4. % Guptas

Question Number : 48 Question Id : 441009161640 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

3838 10506 585 T 52s), 1808 T30S D S S0P FOSOE?

Options :



1. % Hows

2. ¥ BB
3. % Joardven

4. % HYew

Question Number : 49 Question Id : 441009161637 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

The Gandhara school of art, known for its Greco-Buddhist style, flourished during the reign of which dynasty?
Options :

1. % Mauryas

2. % Shakas

3. ¢ Kushanas

4. % Satavahanas

Question Number : 49 Question Id : 441009161637 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

(AE%-257%) 3O (HVD TOAS POGTS % BT ) T°235050 eSS @SB ToBoE?
Options :

1. % S3osen

2. % 3R

3. ¢ Soardoen

4. % PSAHITON

Question Number : 50 Question Id : 441009161638 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is a South Indian dynasty that was known for its extensive maritime trade and connections with Southeast Asia?
Options :

1. ¢ Cholas

2. % Ahom

3. # Khasi

4. ¥ Jayantiya

Question Number : 50 Question Id : 441009161638 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

B0B ¢3S, DY DaS0(E 32350 SHBAH €871 ATRATS H0DOGTEEL (HVQTONS B8 8 27Sed T°239050 JE?
Options :

1. ¢ Soen

2. # @JU0

3. % grd)

4. % 200305

Question Number : 51 Question Id : 441009161619 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Match the Dynasties with Their Key Contributions

Dynasties Key Contributions

A. Tomaras 1. Delhi became an important commercial center

B. Khalji Dynasty 2. Introduced market control measures and taxation reforms
C. Tughluq Dynasty 3. Expansion of the Sultanate to southern India

D. Sayyid Dynasty 4. Established by Khizr Khan

Options :

1. % A-1,B-3,C-2, D-4
2. A-1,B-2, C-3, D-4
3. % A-3,B-2,C-1,D-4
4. % A-1,B-2,C-4,D-3

Question Number : 51 Question Id : 441009161619 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

O°8507° @ T3 808 HSTFTT O 23508 )0B.
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Options :

1. % A-1,B-3,C-2,D-4



2. A-1,B-2, C-3, D-4
3. % A-3,B-2,C-1,D-4
4. % A-1,B-2,C-4,D-3

Question Number : 52 Question Id : 441009161620 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements regarding key personalities of Modern Indian History:

1. Dadabhai Naoroji is known as the "Grand Old Man of India" and authored the book Poverty and Un-British Rule in India.

2. Bal Gangadhar Tilak was famously called the "Lokmanya" and popularized the slogan "Swaraj is my birthright, and I shall have it."
3. Mahatma Gandhi led the Dandi March in 1930 to protest the British salt tax.

4. Subhas Chandra Bose founded the Forward Bloc and led the Indian National Army (INA) with the slogan "Jai Hind."

Which of the statements given above are correct?
Options :

1. % 1 and 2 only

2. % 1,3, and 4 only

3.% 2 3, and 4 only

4. 1,2,3,and 4

Question Number : 52 Question Id : 441009161620 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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4. 2027 OSSR G 50 2B FD0D, "B 2r0K" QR0S ROACHE FAIS €83 (INA)E 7008 0 SaroTdy.

208 QDI (DELSOES” DB/ SBSD?
Options :

1% 1 08050 2 X0°(¢hadd

2. % 1,3, 08050 4 X5

3. % 2,3, 008050 4 S5°(¢had

4.91,2,3, 2088w 4

Question Number : 53 Question Id : 441009161611 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Match the contributions or achievements of each personality in Column A with the correct description in Column B.
Key Personalities of Modern Indian History

Column A Column B

A. Mahatma Gandhi 1. Non-Cooperation Movement
B. Jawaharlal Nehru 2. First Prime Minister of India
C. Subhas Chandra Bose 3. Indian National Army

D. Bal Gangadhar Tilak 4. "Swaraj is my birthright"
Options :

1.¥ A-1,B-2,C-3,D-4
2. % A-2,B-4,C-1,D-3
3. % A-3,B-2,C-4,D-1
4. % A4 B-3,C-2,D-1

Question Number : 53 Question Id : 441009161611 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

SO A S (D I58 TE), DSFTT O B DBATOD FOR B S°Q OB S DSBS 2365930
SCOQE 23 ESTS 58S Eord Ssven

SO A SO B
A. 5 PO 1. 53O QUEBED EI§00
B. 8355erS Jwo° 2. 273 HT3E INES (DTEI0|
C. 027N OISR 3. 275eh 2PBAD SO
D. 2 50D 3§ 4. "0 5072350 T B3STE0Y"
Options :

1.v¥ A-1,B-2,C-3,D-4
2. % A-2,B-4,C-1,D-3
3. % A-3,B-2,C-4,D-1
4. % A4 B-3,C-2,D-1

Question Number : 54 Question Id : 441009161612 Question Type : MCQ Negative Marks Display Text : 0.33



Correct Marks : 1 Wrong Marks : 0.33
Match Key Groups and Institutions of Modern Indian History with their years of establishment.

Column A Column B
A. Indian National Congress 1. 1885
B. All India Muslim League 2. 1906
C. Hindustan Socialist Republican Association (HSRA) 3.1928
D. Brahmo Samaj 4. 1828
Options :

1.¥ A-1,B-2, C-3,D-4
2. % A2, B-3,C-4,D-1
3. % A-3,B-1,C-2,D-4
4. % A-4,B-3,C-1,D-2

Question Number : 54 Question Id : 441009161612 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

SCOQE 2PBEIOD TIB|S TBNE), VWS DATIFEN HBAL DORED ¢3 TS D03 T 23e5GI0R.

SO A SO B
A. 9080DS XIS 50T 1.1885
B. ¢S 20405 00 OF 2. 1906
C. POSTDS FAOQ BIDES oFVTDAS (HSRA) 3.1928
D. [203°2 Q3230 4.1828
Options :

1.¥ A-1,B-2,C-3,D-4
2. % A-2,B-3,C-4,D-1
3. % A-3,B-1,C-2,D-4
4. % A4, B-3,C-1,D-2

Question Number : 55 Question Id : 441009161623 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements about the Mughal Empire (AD 1526 — AD 1857):

1. The Mughal Empire was established by Babur after his victory at the First Battle of Panipat in 1526.
2. Akbar introduced the Mansabdari system to organize the administration and the army.

3. Aurangzeb was known for his patronage of arts and architecture, especially building the Taj Mahal.
4. The decline of the Mughal Empire began after the death of Aurangzeb in 1707.

Which of the statements given above are correct?
Options :

1. # 1and 2 only

2.9 1,2, and 4 only

3. % 1,3, and 4 only

4. % 2.3 and 4 only

Question Number : 55 Question Id : 441009161623 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

B0NS (52350 (8.5, 1526 — (8.5. 1857) (HOODS (B0 1088 D8RO0 &:

1. 152665 2388 B0cse3 FAHEW ANDOES V23000 FEODS HT°5eh 27205 BNNS (ST, W DOTTCH.
2. OIS 08380 R, AB5r0IETE €515 S50 3530 (Ie3F DETCH.

3. BE0KZE0 EFen 0835 7 NFeIAE, S0PJOMT @eF 0aS Q07T FALAT (HIE Tom .
4.17076" ZBE08F230 sHBI0 ST®geh NS SFBL0 DHSO0 (FPS0H0E.

208 QDI (DELSOS” DB/ SBSD?
Options :

1% 1 08050 2 X075 add

2.91,2, HOAW 4 Srelehad

3. % 1,3, 008050 4 S5°(¢had

4. % 2,3, 000 4 Sre(ehad

Question Number : 56 Question Id : 441009161628 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Who was the first woman to serve as the Prime Minister of India, known for her leadership during the Indo-Pakistani War of 1971?
Options :

1. ¥ Indira Gandhi

2. # Sarojini Naidu

3. # Pratibha Patil

4. % Sonia Gandhi

Question Number : 56 Question Id : 441009161628 Question Type : MCQ Negative Marks Display Text : 0.33



Correct Marks : 1 Wrong Marks : 0.33

1971 ROE-TEFTS ABNROE 5 TONET® LS (HVQ TOAS, 2rBHT TS (DFID0(BT DT B0EHE3 seTe IS?
Options :

1. ¢ 2000° mod

2. % 388 oA

3. % (Dedey re3S

4. % IS mod

Question Number : 57 Question Id : 441009161629 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which Indian leader was instrumental in the economic liberalization of India in 1991 and later served as the Prime Minister from 2004 to 2014?
Options :

1. % P. V. Narasimha Rao

2. % Manmohan Singh

3. % Atal Bihari Vajpayee

4. ¥ Lal Bahadur Shastri

Question Number : 57 Question Id : 441009161629 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

199165° oSS TIF0 TBNEY e30E R $T)HEBEES’ ) ZPBBOD TONEICE EOE (5 FNO0D), BT 2004 O 2014 SEH (DTSS0S
JDATFB?

Options :

1. % P. V. SED0ST)

2. ¢ 0SS doh

3. % @S DI el oW

4. % oS 250 3R

Question Number : 58 Question Id : 441009161627 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which socio-religious reform movement was founded by Swami Dayananda Saraswati in 1875, emphasizing a return to the teachings of the Vedas?
Options :

1. % Brahmo Samaj

2. % Arya Samaj

3. % Prarthana Samaj

4. % Ramakrishna Mission

Question Number : 58 Question Id : 441009161627 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

e SBSOE BB TP $78355° 630, 187565 Q52 CSASFS0CS DB 83 DO adsre8E-seh D0y S €0 IE?
Options :

1. % [205° 0AT230

2. ¥ 385 Qadr230

3. % ([ DPQ0° D30

4. % 570890 AR

Question Number : 59 Question Id : 441009161630 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Who is known as the 'Iron Man of India' for his role in uniting the princely states into the Indian Union?

Options :

1. % Jawaharlal Nehru

2. % Subhas Chandra Bose

3. ¢ Sardar Vallabhbhai Patel

4. ¥ Bhagat Singh

Question Number : 59 Question Id : 441009161630 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

0255309 237565 DT (ONTACND)ETE DE0 TANHOES e300 FRODS T (5B 2SS TIHY) 0SS H33sS' TP a3 (D TOTS?
Options :

1. # 25507 I

2. % M@ oS R

3.V ST 0D HHS

4. % 256 doh



Question Number : 60 Question Id : 441009161626 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Who among the following was a prominent leader of the Young Bengal Movement, which aimed at promoting radical ideas and social reforms in early 19th
century Bengal?

Options :

1. % Henry Louis Vivian Derozio
2. % Raja Ram Mohan Roy

3. # Debendranath Tagore

4. % Keshab Chandra Sen

Question Number : 60 Question Id : 441009161626 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

1955 3800 (3025065 BOrS S’ T°GES 365950 DN FS28E DO SO |86 )00 ©F SO DEPZLSY aH0h BorrS
€558 T°OEEH L0 ITPOD (AN FTPONFVCR DIE0?

Options :

1. ¢ 3 @m0 DAOHS BE223Z° (Henry Louis Vivian Derozio)
2. % 072 TP J0%® T°AD

3. % TIodrH o760

4. % 3325 <50(¢5 VS (Keshab Chandra Sen)

Question Number : 61 Question Id : 441009161602 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Where does the Pennar River rise, and into which body of water does it eventually drain?

Options :

1. # Nandidurg range; Arabian Sea

2. % Western Ghats; Bay of Bengal

3. % Chenna Kasava hill in the Nandidurg range; Bay of Bengal

4. % Eastern Ghats; Arabian Sea

Question Number : 61 Question Id : 441009161602 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

)5 SE DEYCH (DS 0E, DHO8 O 23erIaNOS’ EOVFS0E ?

Options :

1. % 30800 1363; 930S D0

2. % 5360 E00ew; 20Mmrergredo

3. ¢ S0BD BBST T, TS §0cs; 220mPerereo
4. % Srd) E0en; @B SIS0

Question Number : 62 Question Id : 441009161605 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which of these channels separates the Andaman Islands and Nicobar Islands from each other in the Bay of Bengal?
Options :

1. # Eight Degree Channel

2. ¥ Nine Degree Channel

3.+ Ten Degree Channel

4. ¥ Eleven Degree Channel

Question Number : 62 Question Id : 441009161605 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

DOTPFAPS 0" E0BSTS BsHen sHOON JETE B 2ETITEES SHTR SPeNS DE?
Options :

1. % dond & °3S

2. % IS GO 0S

3.4 B8 QB 7S

4. % 338 A S

Question Number : 63 Question Id : 441009161588 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Match the waterfalls of India with their respective locations and select the correct answer from the codes.
Waterfall Location (State)
A. Nohkalikai Falls (i) Meghalaya
B. Kunchikal Falls (ii) Karnataka



C. Dudhsagar Waterfalls (iii) Goa
D. Barehipani Falls (iv) Odisha

Options :

1.¥ A—i, B—ii, C —iii, D —iv
2. % A—iii, B—iv,C—ii,D—i
3. % A—i,B—iv, C—ii, D —iii
4. % A—ii,B—iv,C—1i, D—iii

Question Number : 63 Question Id : 441009161588 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2PESTFOS' BOFT O BOST (HBFOS BSTONOS HOAM & © OB IBS DT, DoTHEod.
2BOPB0 F°I0 (T R0)

A S&5pO3 oS0 (1) ST0H
B.5000ES B0arebo (i) $g°e%
C.5°8 K88 BT Ten (iii ) >

D. 22T5Far) 3050 (iv) 2.0
Options :

1.¥ A—i,B—ii, C—iii, D —iv
2. % A—iii,B—iv,C—ii,D—1i
3. % A—i,B—iv,C—ii, D —iii
4. % A—ii,B—iv,C—1i, D —iii

Question Number : 64 Question Id : 441009161589 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Match the given mangrove forests of India with their respective state location and select the correct answer from the codes.

Name of Mangrove Forest State

A. Sundarbans (i) West Bengal
B. Pichavaram Mangroves  (ii) Odisha

C. Bhitarkanika Mangroves (iii) Andamans
D. Baratang Mangroves (iv) Tamil Nadu

Options :

1. % A—i,B—ii, C —iii, D~ iv
2. % A—ii,B—iv,C—iii,D-1i
3.¥ A—i,B—iv,C—ii, D —iii
4. % A—ii, B —iii,C—i,D —iv

Question Number : 64 Question Id : 441009161589 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

ESTF0SQ S8 €959 a7°¢3 HODOES T TOS DO JOB AW ¢ 0 DB B2 JOTHE0A.

X068 €859 DX o7l R0

A. QOSSR (i) DB BorrS
B. 29080 o086 e9¢8syen (i) 2,87

C. Derd EJE ¢k hyen (iii) @0C$57S
D. 2T°¢0N ¢ 9¢8syen (iv) ST
Options :

1. % A—i,B—ii, C—iii, D—iv
2. % A—ii,B—iv,C—iii, D—i
3.¥ A—i,B—iv,C—ii, D —iii
4. % A—ii, B —iii,C—i,D —iv

Question Number : 65 Question Id : 441009161591 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements about the physical features of ‘Lakshadweep’ are correct?
A. It is India’s smallest Union Territory.

B. It is a group of 36 islands.

C. It has an area of 32 sq km.

D. It has 10 inhabited islands.

Options :

1. # Aand B only

2. % B, CandD only
3. % A,Band C only
4. A,B,Cand D



Question Number : 65 Question Id : 441009161591 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

'©F 5D BwEy 25BE OF T HBO0D & 180B (HELIOS DA HBIE?
A. 9O 2rES$33) ©BDS) 30O |2r00.

B. 3 36 & $ared Hasro.

C. B 3F©50 32 <5.8.2.

D. 38 10 Q¢S & s> EOR8 0.

Options :

1. % A S80S B &(ehad

2. % B, C 08050 D (¢

3. % A, B 0805 C Xe(ehad

4.¥ A, B, C 0830 D

Question Number : 66 Question Id : 441009161592 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements about ‘Wular Lake’ are correct?
A. It is the third-largest freshwater lake in Asia.

B. It is situated on the foothills of Haramuk Mountain.

C. The main source of water for the lake is the Jhelum River.

D. It features a small island at its center, known as "Wu-Lank'.

Options :

1. # Aand B only

2. % Band C only

3. % A,Band D only
4. % A,B,Cand D

Question Number : 66 Question Id : 441009161592 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

15978 SE' HB0D & [BOAIDELIDS” DE HBIE?

A. QB SVASTS” 0755 9B sHODAE HEKD).

B. 98 FPTRWE DG 5650 OIS Go&.

C. &2 HENYB0 (DTS D3 S3& Fexo I&.

D. & 508556 '5)-e05' @ DendT 2.8 D), BIH0 GOd.
Options :

1. % A BA%0 B Sr(ehad

2. ¥ B 080 C S|ehadd

3.8 A B X083 D &S¢0

4. % A B, C00A»D

Question Number : 67 Question Id : 441009161599 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Among all the States and Union territories, which of the following was the most urbanized state/UT in India in 2024?
Options :

1. % Chandigarh

2. % Goa

3. ¥ Kerala

4. ¥ National Capital Territory of Delhi

Question Number : 67 Question Id : 441009161599 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Q) T°aTeN 08050 Bo(Bardeh [romrereS’, &: (808 o7¢3eS’ 2024 ¢° orESTIOS” e0eh50¢5 HEEFESE ToAS T R0/BoSFOeh
[QPOS0 E?

Options :

1. % 50886

2. % oy

3. % 3¢

4. &0 20D ToEER [0S0

Question Number : 68 Question Id : 441009161581 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
As per the given table, match the avatars of Lord Vishnu in the sequence they are believed to appear as per Hindu beliefs.

Avatar Sequence
(A) Matsya (The Fish) (1) First
(B) Kurma (The Tortoise) (ii) Second
(C) Varaha (The Boar) (iii) Third

(D) Narasimha (The Man-Lion)  (iv) Fourth
Options :



1.¥ A—i,B—ii, C —iii, D —iv
2. % A—ii,B—i,C—iv, D —iii
3. % A—i,B—iv,C—ii, D —iii
4. % A—ii,B—iv,C—iii,D—i

Question Number : 68 Question Id : 441009161581 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2552068 DEE (DTG0, DY TNEY HTT O FOST DTS (DTG0 QDTN DI 10T 1006 23S$TOH0A.

(NI lele} 8o
(A) 0658 (BD) (i) B0e3
(B) §5°8 (&°23e) (ii) BOCSS
(C) STV (Do) (iif) $300°¢85
(D) SBRVOTVED (sNQNV-ROTO)  (iv) D°&ad
Options :

1.¥ A—i,B—ii, C—iii, D —iv
2. % A—ii,B—1i,C—iv, D —iii
3. % A—i,B—iv, C—ii, D —iii
4. % A—ii,B—iv,C—iii, D i

Question Number : 69 Question Id : 441009161583 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Match the rivers with the neighboring countries of India to which they flow, and select the correct answer from the given codes.

River Country

A. Malwathu Oya (i) Sri Lanka

B. Mekong (i) Myanmar
C. Bheri (iii) Afghanistan
D. Helmand (iv) Nepal
Options :

1. ¥ A—i,B—iv, C —iii, D —ii
2. % A—ii,B—iii,C—iv,D -1
3. % A—ii,B—1i,C—iv, D —iii
4. ¥ A—i,B—ii, C—iv, D —iii

Question Number : 69 Question Id : 441009161583 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

SO @) (NP0 2T ESTFOS FStH BFOS' 235TONOG DB B 523 EFE © 0D NP HSrEard) JOtHEod.

NN ko)

A. Sre8eh) 4,057 (i) B00%

B. Js°0hH (ii) $00AH*0
Cc.2338 (i ) SIS
D. 308 (iv) IS
Options :

1. % A—i,Biv,C —iii, D ii
2.% A ii,Biii,C —iv,D i
3.% A—ii,B—i,C—iv, D —iii
4.4 A—i,B—ii,C—iv,D —iii

Question Number : 70 Question Id : 441009161587 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Match the states with their respective rankings based on the population of children aged 0-6 years in 2011, as per the 2011 Census data.
State Ranking

(A) Madhya Pradesh (i) First

(B) Bihar (i) Second
(C) Maharashtra (iii) Third
(D) Uttar Pradesh (iv) Fourth
Options :

1. % A—i,B—iii, C—ii, D —iv
2. % A—ii,B—iii, C—iv,D i
3. % A—i, B—ii, C —iii, D —iv
4. ¥ A-iv,B—ii,C—iii, D—i

Question Number : 70 Question Id : 441009161587 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2011 272 SELE (DGO 201165’ 0-6 DO YT SN Hed DL BE°2T S SOMT SOST T PO SAST T°5050O BSIEI0A.

o°lRO0 o so8oh
(A) S (DTT (i) First



(B) DG (ii) Second

(C) 3T (iii) Third
(D) &S3 (DTT (iv) Fourth
Options :

1. % A—i, B—iii, C—ii, D —iv
2. % A—ii,B—iii,C—iv,D -1
3. % A—i,B—ii,C —iii, D~ iv
4. ¥ A—iv,B—ii, C—iii, D —i

Question Number : 71 Question Id : 441009161580 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
As per the given table, match the given events related to Gautama Buddha with the places at which they took place.

Event Place
(A) Birth of Gautama Buddha (1) Kushinagar
(B) Gautama Buddha attained enlightenment (ii) Bodh Gaya
(C) Gautama Buddha preached his first sermon on Dharmachakraparavartana or the Wheel of Law (iii) Lumbini
(D) Gautama Buddha gave his last sermon and attained Mahaparinirvana (iv) Sarnath
Options :

1. % A—ii,B—iv, C —iii, D —i
2. % A—i,B—iv,C—ii, D —iii
3. % A—i,B—iii, C—ii, D —iv
4. ¥ A—iii, B—ii,C—iv,D—i

Question Number : 71 Question Id : 441009161580 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

DS HEIE D550, Fehsdd 220CNAE HORO0EODN NDOREISDD @ BEAS |DBFOSE 251G 508.

HoMersd DT¥o
(A) b3 2000 23350 (i) 0S5
(B) T555) 220N 0 2 S000 &FOTesd (ii) 20850
(C) 5% 220V BOBIVETT IS S B3 Hgo
B0 55 DL (HDOMTRY SEOTTE (iii) @00
(D) [Te8a35 20CNE B DIB E5DT$0 TR SNDIFEDEAT® $89 O (iv) ST
Options :

1.% A—ii,B—iv,C—iii,D—i
2. % A—i,B—iv, C—ii, D —iii
3.% A—i, B—iii, C—ii, D—iv
4. % A—iii, B—ii, C—iv,D—1i

Question Number : 72 Question Id : 441009161593 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements:

1. India is the seventh-largest country in the world as per the area.

2. India was the first country in the world to have launched a National Programme for Family Planning in 1952
Which of the statements given above is/are correct?

Options :

1. % 1 only

2. % 2 only

3.+ Both I and 2
4. % Neither 1 nor 2

Question Number : 72 Question Id : 441009161593 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

& (806 [HEEISO0 HBKEBOD0S:

1. BFTOLHSOM (HDOBOS'R oS A& 0832 THo.

2. 195265 $0€0020 DOHO(e5d TR0 23830 SBHEXTRY, (FB0DODS TNERNCEIES TFO 23S STF0.
D A 52368 (DB DA/(D) DB SA/OBSD?

Options :

1% 1 Xr(ehad

2. % 2 Xr(ehad

3.¥ 1 0005w 2 Bokr

4.% 1520 B2 50 O 57

Question Number : 73 Question Id : 441009161863 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which of the following is NOT an Agro-Climatic Zone of Andhra Pradesh?

Options :



1. # North Coastal Zone
2.+ Eastern Zone
3. ¥ Krishna Zone

4. % Southern Zone

Question Number : 73 Question Id : 441009161863 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

BOB ¢3S 30(INTTESQ 35T AN-TTIBD SDOBO0 TG DE?
Options :

1. % &S B0 00

2. ¢ Srd) D00

3. % ok 0%

4. % A8 0 oo

Question Number : 74 Question Id : 441009161854 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Laterite soils typically develop in Andhra Pradesh with which of the following conditions?

Options :

1. % Low temperature and low rainfall

2. ¥ High temperature and high rainfall

3. ¥ Moderate temperature and moderate rainfall

4. % High temperature and low rainfall

Question Number : 74 Question Id : 441009161854 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

SO(PSNBTS ereBE Toren S0 1808 & BRSO @8)SyB ToHEoN?
Options :

1% 500,55 QS SO0 55038 SETS0

2 ¥ 9OF SAES SO ©OE ST S0

3% STHS GEFHS SO WSTod SIS0

4% 0B GEFES 0% By SOI S0

Question Number : 75 Question Id : 441009161866 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which of the following was the highest produced mineral (in terms of quantity) in Andhra Pradesh during 2023-24?
Options :

1. # Gold Ore

2. ¥ Limestone

3. % Iron Ore

4. % Vermiculite

Question Number : 75 Question Id : 441009161866 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

808 57¢3¢5° 2023-2465° SOISNTTS’ eSO e¢h )& TOHDBS D20 (DESTEI0 DBOTT) IE?
Options :

1. % 208 P30

2. ¥ D) N)TON

3. % 300 P30

4. % 588058

Question Number : 76 Question Id : 441009161862 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Krishna-Godavari Basin region of Andhra Pradesh, known for petroleum production, is classified as which type of geological basin?
Options :

1. ¥ Intermontane basin

2. # Rift valley basin

3. ¢ Peri-cratonic passive margin basin

4. % Foreland basin

Question Number : 76 Question Id : 441009161862 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

ESOCHO E¢5 B8 DDA TOAS SO(PINTTES EYQ-F 8 BIS (Foer), & SES 2T HOE BAST $O580w%?



Options :

1. ¥ Q0000 20

2. % 8 5O B1DS

3. ¥ DB DE 51 S8 S
4. % PBers0f BAS

Question Number : 77 Question Id : 441009161858 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Dr. Narla Tata Rao power station, located at Vijayawada, is a
Options :

1. % Thermal Power Station

2. % Hydel Power Station
3. % Wind Power Station

4. % Solar Power Station

Question Number : 77 Question Id : 441009161858 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

DBOHFHS @80 T8 T T D6 VAS I 208
Options :

1. $3S HIB VAS

2. % 230 DS Sold0

3.8 DI DS Zoldo

4. % 8 Q0§ Zo(do

Question Number : 78 Question Id : 441009161856 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

In September 2021, which of the following companies announced the completion of its acquisition of Gangavaram Port in the Visakhapatnam district of Andhra
Pradesh for a total of Rs. 6,200 crore?

Options :

1. ¥ Hindustan Shipyard

2. % Adani Group

3. # Cochin Shipyard

4. % Mediterranean Shipping Company

Question Number : 78 Question Id : 441009161856 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

02025 2021, OBANITTS' DT 0 TS HOHSB0 2,688 BB0 Rs.6,200 I Sedifen T2 (80 oIS &
DEE30D0H?

Options :

1. % 2POATS AHAFD

2. ¥ @ (19

3% ED)S 2905

4. % DALOBVIAHS DD)0H E0

Question Number : 79 Question Id : 441009161859 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

The Kakinada Deep Water Port, commissioned by the Government of Andhra Pradesh in 1997, was taken over by the Kakinada Seaports for operations in which
ear?

}(l)ptions :

1.4 1999

2. % 2003

3. % 2008

4. % 2010

Question Number : 79 Question Id : 441009161859 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

199765 30(CIDTF (925065 50 [FPS0DONS 8¢k GBS B PPN B sEerared FH0 S8 VT Q) D055 1350 ¢HS0
TOH0E?

Options :

1. ¢ 1999

2. % 2003

3. % 2008

4. % 2010



Question Number : 80 Question Id : 441009161855 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which region in Andhra Pradesh is actively associated with the production of petroleum?

Options :

1. % Araku Valley

2. % Krishna-Godavari Basin

3. ¥ Rayalaseema Plateau

4. % Nallamala Hills

Question Number : 80 Question Id : 441009161855 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

SORIITTS’ 180B O (050 DE'OONO Ge )5 18a5rRed H02090 $OR &0H?
Options :

1. % e85 5O

2. §A-Fdd TBOS

3. % TP00OVD DBLFD

4. % S0H Tocsen

Question Number : 81 Question Id : 441009161882 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

In which Sustainable Development Goal (SDG) did Andhra Pradesh secure the No.1 rank in the SDG Index 2020-21?
Options :

1. % SDG-6 (Clean Water and Sanitation)

2. ¥ SDG-7 (Affordable and Clean Energy)

3. ¥ SDG-13 (Climate Action)

4. % SDG-15 (Life on Land)

Question Number : 81 Question Id : 441009161882 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2020-21 SDG &PDES” SOIGSHTT 2 VS @DIHQ ©5.50 (SDG)ES’ 5028 1 T°§0500 FEOD0E?
Options :

1. % SDG-6 (DSOS DB 08350 2rBHES0)

2.9 SDG-7 (DSBS 8050 &S A58)

3. % SDG-13 (P88 ©88)

4. % JD BE-15 (8D &8 ers0&)

Question Number : 82 Question Id : 441009161890 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Which scientist's theory on overpopulation argues that the human population is too large and that this can lead to severe consequences?
Options :

1. # Charles Darwin

2. ¥ Thomas Malthus

3. % Paul Ehrlich

4. % Albert Einstein

Question Number : 82 Question Id : 441009161890 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

S53°88S 23y e DA SOOI BE BT DOETHIFOZ TOBN0ND 9OE BT & T IS FEOTTCR?
Options :

1. % 00 &8 5

2. ¥ GPOR QR

3% S DBS

4. % 80)0 05 VS

Question Number : 83 Question Id : 441009161891 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Why is atmospheric nitrogen (78% of air) not directly usable by plants?

Options :

1. ¥ Itis toxic to plants in its natural form

2. ¥ Itis not in a digestible form for plants

3. # Itis only available in the upper atmosphere

4. % Plants do not require nitrogen for growth



Question Number : 83 Question Id : 441009161891 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

TG DSBS (POS’ 78%) BNEF N DOCHE JENT HOTBrAODESY?
Options :

1. % a8 o 55723 S0 BEy 080 AT O IE.

2. ¢ A J0E OB BB S B0 S0

3. % A0 NS TSSO ST ODN0A.

4. % Jngyen VK8 J|ev23Q @95080 S

Question Number : 84 Question Id : 441009161878 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

According to the United Nations, around what percentage of the global population is projected to live in urban areas by 2050, posing significant challenges for
achieving sustainable cities and communities (SDG 11)?

Options :
1. % 51%
2. % 57%
3.9 68%
4. % 72%

Question Number : 84 Question Id : 441009161878 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

DEST°2 DM (HSB0, 2050 7¢I HHDOTH 22T’ DO TS50 HOB D& (FOTS’ DSV 0T SODDR0R, B VEHS
SHETPEN BN Dedreered O30S’ HEIQONTS DT EOBN0E (SDG 11)?

Options :
1. ¥ 51%
2. % 57%
3. v 68%
4. % 72%

Question Number : 85 Question Id : 441009161879 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

According to the United Nations Sustainable Development Goals Report 2022, approximately what percentage of the global population still lacks access to
electricity?

Options :

1. % 5%

2.9 9%

3. % 13%

4. % 16%

Question Number : 85 Question Id : 441009161879 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

20850723500 VNS ©0DHHD OT O ABEE 2022 (DTG0, (DD0TY B2FES” ST 05 TS0 HOOE BDIE3E DS DES50 Sed?
Options :

1. % 5%

2.4 9%

3% 13%

4. % 16%

Question Number : 86 Question Id : 441009161889 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which organization is responsible for publishing the Sustainable Development Goal (SDG) India Index?

Options :

1. # Ministry of Environment, Forest and Climate Change

2.+ NITI Aayog

3. # United Nations Development Programme (UNDP)

4. % World Economic Forum

Question Number : 86 Question Id : 441009161889 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

OVTDSYE 575D (SDG) 23°5¢5 STDQ (HNO0TETRE & DO 23°¢5e5 SN 0E?
Options :

1. % H0°535€90, €968 S0OAN arEPIBED 3PS )E SDO|Edeh § 3o

2. ¢ Q& esBrh

3. % 08507235008 ©92)N9Q 5°E S0 (UNDP)



4. % 35S JETWE FESH

Question Number : 87 Question Id : 441009161892 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

The environment plays a crucial role in protecting living organisms by providing natural barriers. Which of the following helps protect organisms from harmful
radiation?

Options :

1. % The ozone layer

2. % Atmospheric pressure
3. % The water cycle

4. % Soil fertility

Question Number : 87 Question Id : 441009161892 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

D523 eB0ZIO WOBOTIHO T ST° 28eheedd B8 0THBOES DT9360 EE (¢5 FANOE. 80O T3 A FAEEHS BATHAS
0B 28 B8 030 DIFCHNCHIS0E?

Options :

1. 58S &S

2. % FErdden S0
3. % Je3 B0

4. % J HoerSieh )

Question Number : 88 Question Id : 441009161875 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Read the following statements and choose the correct option :

Assertion (A): Overconsumption of natural resources is a major factor contributing to the environmental crisis.
Reason (R): The rapid depletion of resources leads to the loss of habitats, increased pollution, and climate change.
Options :

1. ¢ Both (A) and (R) are true, and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).

3. % (A)is true, but (R) is false.

4. % (A)is false, but (R) is true.

Question Number : 88 Question Id : 441009161875 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

808 (D35 A DB S DDA, DOTHE0S:
QB)BTES0 (A): DT°558589 HDOELTAE ESTINT (DT 9050 D23 5SBOK BT DATIPA0TIEO.

B0 (R): 59500 BHIS0HTS § 6965 9RE T SN0, SENAS DEMHEE SHOAM FERSEE ST JOZ TFEBNOR.
Options :

1. ¥ (A) 0BG (R) BOKT S&°5e0, DO (R) @ (A) $0 DB De3Sea.

2. % (A) B3 (R) BOGT Hezesen, 5°Q (R) @ (A) 50 OB DedSea 5°¢.

3. % (A) D550, 5°0) (R) @50

4. % (A) @050, 5°Q (R) Debs0.

Question Number : 89 Question Id : 441009161880 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

What was the rank of Andhra Pradesh in the 2020-21 SDG India Index for affordable and clean energy?

Options :

1.9 Ist

2. % 3rd

3. % 5th

4. % 7th

Question Number : 89 Question Id : 441009161880 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

DBIRS BN D550 $8 §0 2020-21 SDG 277585 S’ 80(CI(HTS T°S08 D0eh?
Options :
1.9 18
2. % 3%
3. % 58
4. % 785



Question Number : 90 Question Id : 441009161883 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

According to the Johannesburg Plan of Implementation (JPOI) adopted at the 2002 World Summit on Sustainable Development (WSSD), member states were
committed to beginning the implementation of National Sustainable Development Strategies by which year?

Options :
1. % 2000
2. % 2002
3. 92005
4. % 2010

Question Number : 90 Question Id : 441009161883 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

2002 (0T QT SFHE D0 (WSSDYS® &SRPE0TIDGES B0 @sren (DerdE (JPOI) |D5°S0, 255 e O D080
T°¢38 270 NRVT"EDSYD aJ°855) 950N (B0 OTITIE P2 o) ON?

Options :

1. % 2000

2. %2002

3. 92005

4. % 2010

Question Number : 91 Question Id : 44100998521 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Match the following Directive Principles of State Policy (List-1) with their respective Articles (List-2) as per the Indian Constitution:

Directive Principles of State Policy (List-1):

A. Promotes the educational and economic interests of weaker sections.
B. To raise the level of nutrition, the standard of living of people, and the improvement of public health.
C. This article emphasizes the organization of village panchayats and promotes their empowerment as institutions of local self-government.

Articles (List-2):
1. Article 46

2. Article 47

3. Article 40

Options :

1.¥ A-1,B-2,C-3
2. % A-2,B-3,C-1
3. % A-3,B-1,C-2
4. % A-1,B-3,C-2

Question Number : 91 Question Id : 44100998521 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2S5 T2 S0KN0 (D5°30 808 Tl DS STRE SrEreddd (PDer-1) 3°¢3 H00HSH ATITOS (2r0er-2) 235HSTI0H

oo TS ST Sy @en (20D ee-1):

A. 207D T 8 SHOA5D e0F (DTIFBT (865 YT N0A.

B. SFASS P00, 19236 B9 (De3reareedd S08050 (2328158 S0 DOTHBI0A.

C. & OG0 (TP HOTTONBE DORD '8}, T2HI0E DB FRE D $HBFEIS HDODENTT 7¢3 PSS (865 aPeNOA.

OESeTeN(2DEe-2):
1. OG0 46

2. 9OES0 47

3. Q880 40
Options :

1. ¥ A-1,B-2,C-3
2. % A-2,B-3,C-1
3. % A-3,B-1,C-2
4. % A-1,B-3,C-2

Question Number : 92 Question Id : 44100998533 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Match the following Directive Principles of State Policy (List-1) with their respective Articles (List-2) as per the Indian Constitution:

Directive Principles of State Policy (List-1):



A. DPSP emphasizes the promotion of gender equality and the empowerment of women.
B. To prohibit the slaughter of cows, calves, and other milch and draught cattle and to improve their breeds.
C. To prohibit the consumption of intoxicating drinks and drugs which are injurious to health.

Articles (List-2):
1. Article 47

2. Article 48

3. Article 39

Options :

1.¥ A-3,B-2,C-1
2. % A-2,B-1,C-3
3. % A-1,B-3,C-2
4. % A-3,B-1,C-2

Question Number : 92 Question Id : 44100998533 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2GS TPa50N0 |DS5°B0 808 TR DG TS AF(@ O (2De°-1) 3¢S HOR0ES ATSETOS (PDT-2) B5DSTI0A:

oo DTS s8TIE Sy @en (2rDee-1):

A. DPSP &0 D35Qd&@° 5, (865 )a0tI¢0 0TS0 T Fe> I QSESD 378269573008,

B. €390, Brsex L0805 25 3P Q08051 &) HHOT HHYD SEORER) NEOIBO0 083N 37¢3 258>
JSIBTSCs0.

C. S8mEA8 SFIEGS 308 FrQA5Ten BTN SS9 DIATFTT), D AOEO.

QseEeTren (2P er-2):
1. ©0HEB0 47

2. @©HEB0 48

3. @G0 39
Options :

1.v A-3,B-2,C-1
2. % A2,B-1,C-3
3. % A-1,B-3,C-2
4, % A-3,B-1,C-2

Question Number : 93 Question Id : 44100998632 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements regarding the Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA), 2005:

1. The Act provides a legal guarantee of 100 days of wage employment in a financial year to adult members of rural households willing to do unskilled manual
work.

2. The Act is applicable only in selected states notified by the Central Government.

Which of the above statements is/are correct?
Options :

1.4 Only 1

2. % Only2

3. % Both I and 2

4. % Neither 1 nor 2

Question Number : 93 Question Id : 44100998632 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

055 TPOL 27O (PR S 533 560 (MGNREGA), 2005 HB0D &8 (808 (HEES0&) H82D0s0&:

1. 36950 B BB I TOOERE BP0 €5d) I F0EN023°e STBF23 D20LB 2.8 e30% D055 IS0 100 Fared Sev Gard>s
BEDERD T &t IO OB,

2. 83 2580 Bo(CS (920550 SE3B TS DODE TS T TS’ S35 SO 0A.

D DER), IDESOES DE/ DD OBI?
Options :

I NN

2. % 2 S

3. % 10805 2 oy

4.% 1S 2 O 5°¢



Question Number : 94 Question Id : 44100998634 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements regarding the Right to Education (RTE) Act, 2009:

1. The Act guarantees free and compulsory education for children aged 6 to 14 years.
2. The Act was enacted under Article 21A of the Indian Constitution.

Which of the above statements is/are correct?
Options :

1. % Only 1

2. % Only2

3.+ Both 1 and 2

4. ¥ Neither 1 nor 2

Question Number : 94 Question Id : 44100998634 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Ds 57807 (RTE) w580, 2009 HB0D &3 (808 (HDELSO& HBID0s0d:
1. 83 2580 6 0A 14 H0XS YT HAHXN.) KO DDOZ &S OO AEYOE DI N JN0A.
2. & 90 28 U"az"gofﬂo@% @OEB0 21A (D50 SrFodONDR0H.

2 DEY ), 1DEQIOS’ DO/ SBI?
Options :

IR INVTE

2. % 2 35S

3.9 1 080w 2 BOKy®

4. % 1S 2 DO 55

Question Number : 95 Question Id : 44100998647 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements regarding NITI Aayog:

1. NITI Aayog was established in 2015 to replace the Planning Commission of India.
2. It is a constitutional body responsible for formulating India's Five-Year Plans.

Which of the above statements is/are correct?
Options :

1.4 Only 1

2. % Only2

3. % Both 1 and 2

4. ¥ Neither 1 nor 2

Question Number : 95 Question Id : 44100998647 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

DB s HBOD &3 BoB (DEESOH HBZD0S0A:
1. 27585 |DETP DS D00 TR0 Q& 8TBrh 20156 FD0HDE0A.

2. RO 2ESTE DOISY (DT PEQ EFFORONEE 230 5¢h S0 Tes0l QO Q.

2 BEY D), 1DFQXIOS DE/ D DBID 2
Options :

IS INVTE N

2. % 2 35S

3. % 1 0805w 2 Boky

4. % 1S 2 O 5°¢

Question Number : 96 Question Id : 44100998665 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements about the the Government of India's One Stop Centre (OSC) Scheme:

1. The One Stop Centres (OSC) provide facilities such as police assistance, medical aid, legal and psychological counselling, and temporary shelter to women
facing violence.

2. The scheme is implemented by the Ministry of Defence under the Nirbhaya Fund.

Which of the above statements is/are correct?



Options :

1.+ Only 1

2. % Only 2

3. % Both I and 2
4. % Neither 1 nor 2

Question Number : 96 Question Id : 44100998665 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2S5 1025085 50 TINEY S N V0EE (0SC) HGHE0 HBOD &2 (B0 1DEEISO HBFD0T0&:

1. 38 FD 0B (0SC) SP0DD DT 0E05) sTFFDOE) PO DIFANO, D3 DIFANO, TILDSTS DBAR STSRE HEXF HBAI
) OE G0N0 H0ES ETTEOD 0T OW.

2. %8 D5, ABIAD AE 80 BE 9 S00(€365 § T €9eEN TNOAR.

2 DY), 1DFOS’ DO/ DBXD ?
Options :

1. ¥ 1 S

2. % 2 QS

3. % 10805 2 Bockye

4.% 1 S 2 DO 55

Question Number : 97 Question Id : 44100998894 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Who appoints the Chairman of the Lokayukta in a state?

Options :

1. # The President of India

2. % The Chief Minister

3. ¥ The Governor

4. % The Chief Justice of India

Question Number : 97 Question Id : 44100998894 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

28 7RO’ STPO50E TBISD 5B O ED?
Options :

1. % 2386 07 QNS

2. % 3ol

3¢ 63516

4. % 27865 (DN 5000

Question Number : 98 Question Id : 44100998622 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements regarding Om Prakash Mathur:

1. He is the current Governor of Sikkim. (As of March 2025)
2. He was previously a member of Rajya Sabha from Rajasthan.
Which of the above statements is/are correct?
Options :
1. % Only 1
2. % Only 2
3.+ Both | and 2
4. % Neither 1 nor 2

Question Number : 98 Question Id : 44100998622 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2,0 (D5 XG0 HB0D & 180A (HELSO HBBO050G:
1. 8O DB 180 15383 8. (8358 2025 °¢38)
2. 80NN BSOS TBIS D0G T°235:25 D2V DT T,

D& DY, DESOES DA/ OBI?
Options :

1% 1 S(ehad

2. % 2 Xr(ehad



3.9 1 0005 2 Bokr
4. % 1 Br2 & 5

Question Number : 99 Question Id : 44100998695 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

In which year was the National Highways Authority of India (NHAI) officially established?

Options :

1.+ 1988

2. % 1991

3. % 1995

4. % 2000

Question Number : 99 Question Id : 44100998695 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

TASS 333D 05r6eS 8D R0BAST (NHAIL) 08580 &) D05 15065 P 050B0E?
Options :
1.+ 1988
2. % 199]
3. % 1995
4. % 2000

Question Number : 100 Question Id : 44100998700 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

In which year was the Right to Information (RTI) Act enacted in India?

Options :

1. ¥ 2002

2.42005

3. % 2008

4. % 2010

Question Number : 100 Question Id : 44100998700 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2GS T30SS HAFTS 280y O (RTI) & D05 IE0ES 950008 5D Jo&?
Options :
1. % 2002
2.4 2005
3. % 2008
4. % 2010

Question Number : 101 Question Id : 44100998914 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Under the Tenth Schedule of Indian constitution, a legislator will not be disqualified for defection if at least what fraction of the members of a party decide to
merge with another party?

Options :

1. % One-third

2. ¥ Two-thirds

3. # Half

4. % Three-fourths

Question Number : 101 Question Id : 44100998914 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

23865 Toa3s000E7 DS TS (D560, 28 8 TOB D205’ EDD0 Joeh aH0 HTE FES’ OO Tarer AGONOTHEOT,
€8 TR NT"ON0N)ZO OIGCRT (HEE30TI23¢8¢R?

Options :

1. % S0r& S0k

2. v PG 0e BOCK HOoen

3. % Jo

4. % 3O0e) Sy SHoseN

Question Number : 102 Question Id : 44100998921 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

The Anti-Defection Law applies to which of the following in India?

Options :

1. ¥ Members of Parliament (MPs)



2. % Members of State Legislative Assemblies (MLAs)
3. ¥ Both MPs and MLAs
4. % Only Members of the Rajya Sabha

Question Number : 102 Question Id : 44100998921 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2GS T330S° DTP0N0R) AERE 580 0B ¢3S DSB8 H$8N0E?

Options :

1. % E0EN SN (MPEN)

2. % O 30028 H2DgeN (MLAEY)

3. ¥ 0NN BN IR 5N AWEF®

4. % 0235025 H205e0 (b

Question Number : 103 Question Id : 44100998929 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

What was the key issue in Manipur that prompted the visit of Justice B R Gavai and other Supreme Court judges in March 2025?
Options :

1. # Environmental concerns

2. # Economic crisis

3. ¢ Ethnic violence

4. ¥ Electoral disputes

Question Number : 103 Question Id : 44100998929 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

5378 20256, 8D &) &35 H0DH OO Q5 DO T°5OHDTEIE SDEFIE DOCIEHSE TPEBVS §erE DS WEI?
Options :

1. % 0755869 SaNOen

2. % 88 oo

3.9 23°¢3 0D

4. % D)8 Qarren

Question Number : 104 Question Id : 44100998566 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Match the following Governors of Indian States (List-1) with their respective States (List-2) as of March 2025:

Governors (List-1):
A. Shri Arif Mohammed Khan
B. Shri Ramen Deka
C. Shri P.S. Sreedharan Pillai
States (List-2):

1. Bihar

2. Chhattisgarh

3. Goa

Options :

1.v¥ A-1,B-2,C-3
2. % A-2,B-3,C-1
3. % A-3,B-1,C2
4. % A-1,B-3,C-2

Question Number : 104 Question Id : 44100998566 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

3382 2025 °¢38 2SS T (5T (138180 (D& -1) 3°¢3 H0D0ES TS (2De-2) 23¢5ET08:
#3818 (edee-1):

A. 13 €0 BTS00 S

B. 3OS B

C. 1B D.I0. (BRSS F

o°lalPen (2rdee-2):



1.D5E
2. HBVHE

3.

Options :

1.v¥ A-1,B-2,C-3
2. % A-2,B-3,C-1
3. % A-3,B-1,C2
4. % A-1,B-3,C-2

Question Number : 105 Question Id : 44100998584 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Match the following Governer of the Indian State (List-1) with their respective States (List-2) as of March 2025.

Governer of the Indian State (List-1)

A. Shri Acharya Dev Vrat
B. Shri Bandaru Dattatraya
C. Shri Shiv Pratap Shukla

States (List -2)

1. Gujarat
2. Himachal Pradesh
3. Haryana

Options :

1. % A-1,B-2,C-3
2. % A-2,B-3,C-1
3. % A-3,B-1,C-2
4. ¥ A-1,B-3,C-2

Question Number : 105 Question Id : 44100998584 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

3387 2025 °¢38 23S T3 B3B)5 (25Dee-1) & T8 HOOES T AT (237D e-2) 23SHBI0R.
8¢ oD 6586 (22De-1)

A (3 STES BS (5S
B. |7 203 ST (S0
C. (3 35 (DD HT

o°laPen (2r)e-2)

1. HBT°S

2. 73S (DTT
3. PO
Options :

1. % A-1,B-2,C-3
2. % A-2,B-3,C-1
3. % A-3,B-1,C-2
4. A-1,B-3,C-2

Question Number : 106 Question Id : 44100998710 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

In which year was the Rashtriya Vigyan Puraskar (RVP) first introduced in India?

Options :

1. % 2020

2. % 2022

3.9 2024

4. % 2025

Question Number : 106 Question Id : 44100998710 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2PESTFOS T 0D V&S HBEILE (RVP) IO & 0053306 (DS L0R0E?
Options :
1. % 2020
2. % 2022
3.9 2024
4. % 2025



Question Number : 107 Question Id : 44100998718 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

For how many years can a recruit serve in the Armed Forces under the AGNIPATH scheme?

Options :

1. % 2 years

2.9 4 years

3. % 6 years

4. % 10 years

Question Number : 107 Question Id : 44100998718 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

1) HE(AGNIPATH) HE0 80¢5 ASTS TS 208 358 DD, D036 3T7e0 FA50¢ Seeede R3ed AN )?
Options :

1. % 2 505¢d yoren

2. v 4 505 oren

3. % 6 Q0SS oren

4. % 10 D0ded yoren

Question Number : 108 Question Id : 44100998867 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

In which year was the Lokpal and Lokayuktas Bill passed in the Lok Sabha?

Options :

1. v 2011

2. % 2012

3. %2013

4. % 2014

Question Number : 108 Question Id : 44100998867 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

SEIS B0 S'5easng eV 75025 Q D05 IS0’ eSRFE0DOE?
Options :
1.v 2011
2. % 2012
3. % 2013
4. % 2014

Question Number : 109 Question Id : 44100998871 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which civil society movement played a crucial role in pressuring the government to pass the Lokpal and Lokayuktas Bill?
Options :

1. # Bharat Swabhiman Movement

2. % India Against Corruption

3. ¥ Right to Information Campaign

4. % Jan Dhan Andolan

Question Number : 109 Question Id : 44100998871 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

SEFS OO S'5ainE DN SRFAOTIETIL 92506550 B BNHTHCOES’ &) DS DTe Ered§en0 §d8 J(¢h FNODOE?
Options :

1. % 2SS e 5T €530

2. ¥ 0Q05” iR $E0S

3. % Qs PE0Y (DTG0

4. % 28308 So08SS

Question Number : 110 Question Id : 44100998875 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Before the enactment of the RTI Act, 2005, which Indian state was the first to introduce a Right to Information law?
Options :

1. ¥ Maharashtra

2. ¥ Rajasthan

3. ¢ Tamil Nadu

4. % Karnataka



Question Number : 110 Question Id : 44100998875 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

200565° DSFTES 57807 IO NS E TPEHINOCY, 2rSEHTFOS' &) TR0 BNETET DSFTTS T80} THEF), 10SFDE0H?
Options :

1. % 0500

2. % OB

3. ¢ ST

4 % Ererd

Question Number : 111 Question Id : 441009161570 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which of the following is an essential principle of sustainable development highlighted by international conventions?
Options :

1. # Increasing the use of fossil fuels to boost economic growth

2. % Prioritizing present economic needs over future environmental concerns

3. ¥ Reducing greenhouse gas emissions to ensure environmental sustainability

4. % Ignoring biodiversity conservation in favor of urban expansion

Question Number : 111 Question Id : 441009161570 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

OST'BOD DITHFTE T ST° IFBE TANDES VES @S9 ANV QTS50 & 180 3°¢3S° DE?

Options :

1. % 308 39B8 eredNTH00E Beres ROPTE S5 DOVR0

2. % BN HONSE SOEEI F0B W 308 @5IT O [BFEeased @5 5C0
3. ¥ 075539 0RBH AFTE0NE A8 (AS TR0 A0 & TP 050

4. % 586 QBB @ DEFOOM B[S DBBE 9D DDB0H0

Question Number : 112 Question Id : 441009161523 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements regarding the impact and challenges of Microfinance Institutions in India and choose the correct option.

1. Microfinance can lead to over-indebtedness among borrowers if not properly regulated.
2. The primary source of funding for MFIs is government subsidies.
3. Technology integration in microfinance operations can help reduce costs and improve efficiency.

Options :

1. ¥ All 3 statements are correct.

2. % Only statements 1 and 2 are correct.
3. # Only statements 2 and 3 are correct.

4.+ Only statements 1 and 3 are correct.

Question Number : 112 Question Id : 441009161523 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2PESHTIOS’ D DE DTS DO (92750 DB DT FEO H00AO0D 180 (DEESDE HOHEINESE SNEFO0S HBAKH DB
2RISR, OHEFOR.

1. DE TSI DB AAHOBODEDS SealfieresS e9BE $eerTed8 OB,
2. MFI®Z0 QOO (PR E 53K (9296 § Toneden.
3. DEF DTS SE5EFIS” Basey 028 ROETHAS DE IO SAOIETRE BN DT, RAHDSTIGOS’ HLIFANDEBISIOE.

Options :

1. % 0S50 3 (D8I OBI.

2. % HEEIS0 1 HOARN 2 ST HBSD.
3. % (D80 2 SO 3 S50 HTID.
4.V (DEOS 1 0805 3 S (5H DBX.

Question Number : 113 Question Id : 441009161560 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

How does the Monetary Policy Committee (MPC) influence economic stability in India?

Options :

1. # By dictating fiscal policies

2. ¥ By setting interest rates to control inflation

3. % By managing international trade agreements



4. % By overseeing industrial regulations

Question Number : 113 Question Id : 441009161560 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

ESTI0S 308 e Q) STEALE e ¢S (MPC) e (52750 THOE?
Options :

1. % 558 Dzedo( fiscal policies JABTI0TICE0 T SO°

2. ¢ | SSEO TR, AOHOSBOTTOCHE & BEIS DGONOLHHO T°S0°

3. % @OST B0 T3S D)0 B (5T TP ST°

4. % r8[7°a0% Q20RO HB5R8.0t3¢%0 e o

Question Number : 114 Question Id : 441009161563 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

What is a key objective of rural development programs in underdeveloped districts?

Options :

1. % To increase urban migration

2. % To centralize agricultural policies

3. ¥ To enhance local infrastructure and education

4. % To privatize rural utilities

Question Number : 114 Question Id : 441009161563 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

©0DIHD ToKD IS PAETDHYD SESEITE S0DS STFO De3?
Options :

1. % 3820 SOOI D00

2. % S5O Deyareddd 3o QEB0TI0

3.9 PQE STTOE SNPASTEN $0BA DI DoBrHNB IS0

4. % [P0 0E3DSO | 3¢3EB0ss0

Question Number : 115 Question Id : 441009161529 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Regarding government initiatives for economic development in India, consider the following statements and choose the correct option.

1. The 'Make in India' initiative aims to transform India into a global manufacturing hub.
2. The success of government initiatives depends solely on central government interventions.
3. 'Skill India' is designed to enhance the employability of the Indian workforce by providing necessary skills and training.

Options :

1. % All 3 statements are correct.

2. % Only statements 1 and 2 are correct.
3. ¥ Only statements 2 and 3 are correct.

4.+ Only statements 1 and 3 are correct.

Question Number : 115 Question Id : 441009161529 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

ESHTH0S e30% @8 SYO §H0 (H20e5 § B IESTOZ 000D, & (S0 (DELSDX HBID0D), HBS DRYTR) HOTHE0H.

1. 308 38 0BT T8 2SS TFR, (V0TS 5033E T[S0 S55°8 )¢50 ©F SOTT DEPZ0E.

2. (D20 S 5B 5B D2BANO BIB) 0ES AVNTNEISDR AT SHTEIE S0ENOd.

3. @SDBTS DIYETSEN, BE.69 OBOIBO T ST° 2SO (TS ¥8 TINE), Gard DTS DONETS S 0&AS
Brro&odin&08.

Options :

1. % [0S0 3 1HESeN OB XS.

2. % (DEIN 1 0BAW 2 S5 OTS.
3. % HEEISEN 2 HOAKN 3 SFBT HBSD.
4. ¥ (DS 1 B0 3 S (5H DDX.

Question Number : 116 Question Id : 441009161533 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Consider the Assertion and Reason statements carefully and select the most appropriate option.

Assertion (A): Financial institutions are pivotal in ensuring economic stability through effective monetary policy implementation.
Reason (R): Central banks use tools like the repo rate and cash reserve ratio to manage liquidity and control inflation.

Options :
1.+ Both A and R are true, and R is the correct explanation for A.

2. % Both A and R are true, but R is not the correct explanation for A.



3. % Ais true but R is false.
4. % Ais false but R is true.

Question Number : 116 Question Id : 441009161533 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

QB85 7850 0B8N 5°BEI0 (DEEINDR) 2B HOHEEFOTIOR HBAEN @505 HDEANDHZS DV IFRY) DOTHFOR.

D 50 (A): DRSBTS (C3a35 DG e & 07 308 DB AT 600’ e8% HoPen §erdo.

5285690 (R): D8 53¢3Q DS 5205 DB (95 )e7Q), AOHOISB0TITE BO(CS 2505000 BEF B 0N SHED e 5> D)
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Options :

1. ¥ A SHE05 R BOGr N850, R @00 A 8 OB D3e9.
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3. % A D350, 520 R @9¢50.

4. % A 0¢850, 5°Q R Debs0

Question Number : 117 Question Id : 441009161569 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

How does competitive federalism contribute to sustainable development in India?

Options :

1. ¢ By fostering competition among states to improve social and environmental outcomes

2. ¥ By centralizing all development programs

3. # By reducing state autonomy in policy-making

4. % By focusing solely on economic growth metrics

Question Number : 117 Question Id : 441009161569 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2PSESTFOS VG @ IHDE e 03T 53°CI0 (competitive federalism) eT EsFDCRSIOE?

Options :
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Question Number : 118 Question Id : 441009161557 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

What was the primary focus of India's first Five-Year Plan?

Options :

1. # Industrial expansion

2. % Agricultural development

3. # Technological innovation

4. % Urban infrastructure

Question Number : 118 Question Id : 441009161557 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2T SSTE B HOBSS (DT BIBNE SgR e

Options :
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Question Number : 119 Question Id : 441009161559 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

What was a key economic challenge India faced immediately after gaining independence?

Options :

1. ® Over-reliance on heavy industries

2. % High levels of literacy and skilled labor



3. ¢ Predominantly agrarian economy with low industrial output

4. % Surplus of foreign exchange reserves

Question Number : 119 Question Id : 441009161559 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

A SBO(H50 DY FOO 2FESHTFO CNTYIY, (DTS &8 Hren ¢3?
Options :

1. % 2378 HOFDO R 0BT e3crBNE0
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4. % DT 358 ded 5> oroen

Question Number : 120 Question Id : 441009161531 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Consider the Assertion and Reason statements carefully and select the most appropriate option.

Assertion (A): The primary objective of India's second Five-Year Plan was to achieve rapid industrialization.
Reason (R): Industrialization was seen as a means to transform India into a self-sufficient, modern economy capable of providing employment and improving
living standards.

Options :

1. % Both A and R are true, and R is the correct explanation for A.

2. % Both A and R are true, but R is not the correct explanation for A.
3. # Ais true but R is false.

4. % A s false but R is true.

Question Number : 120 Question Id : 441009161531 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

QB EZ0 HBAW B0 ©F (HEEIID) 27 KIS HOHEF0IOR sHBAN @305 DXNAB T DAIFA), DOTNFOR.

D) FESO (A): 2PESTF BOCHS DOIHIY (DT DE &) (PPHWE ©F SO FHS05T0S PO FNEEBeS FEOSC0.

5390 (R): 3PSSTTR), D000 D098, eCNAE e30F 5550 S8 T8 PO FaNEEBED 2.8 SO 2P0, BE GaFED
©0&0TIHE OAM 2 (DATPET D BDDNOH.

Options :

1. % A 8050 R BO&® He850, R @90 A 8 OB DadSea.

2. % A DB R BOG® ev50, R NI A 8 OB D38 5°¢.

3. % A D850, 50 R @90e50.

4. % A 0¢850, 5°Q R Oebs0

Question Number : 121 Question Id : 441009161554 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

How did import substitution industrialization (ISI) impact India's trade policies initially?

Options :

1. % Focused on reducing import dependency

2. % Led to open trade policies

3. ¥ Encouraged foreign direct investment

4. % Resulted in significant trade liberalization

Question Number : 121 Question Id : 441009161554 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

EDXE (TP O FOFEEEE (ISI) (S0250ES 2rESTH edess DD Der (DerNB0 TOE?
Options :
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4. % 5 dOHBS aredess HEDEB0H TBBHBO

Question Number : 122 Question Id : 441009161539 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

How can inclusive growth be achieved despite the challenges of underutilized and unskilled manpower in India?
Options :

1. # By focusing solely on urban areas for development

2. % By implementing comprehensive educational reforms and vocational training programs

3. ¥ By increasing import tariffs to protect domestic jobs

4. ¥ By reducing government expenditure on social programs



Question Number : 122 Question Id : 441009161539 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

2rSESTFOS 550265 DITIPHO sHBON YISO B 5720963 5855 DT €591 )38 DD SHAQ e FPEO0TISTRY?
Options :

1. % 0)NB N0 D (0T X(ehadd St R0 @ so°
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Question Number : 123 Question Id : 441009161558 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

How did the economic policies of pre-independence India contribute to its economic challenges post-independence?
Options :

1. % Encouraged technological advancement

2. % Promoted self-sufficiency in food production

3. % Focused on extracting natural resources for export

4. % Fostered a balanced regional development

Question Number : 123 Question Id : 441009161558 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

550 (@8 SJG S0 arSHTF €308 Dmren A $S0(EsS05E0 OB 30E P der E530 TFow?
Options :

1. % rOSRE HBHEB |5 I 0TICH0

2. % 355 €558 5000 09O (865 Yor0Tdho

3. ¥ DD TR0 D523 5B SOEBOHBOD 59 FB0TICHO

4. % B80SO (00D ©0DHHD (eh )ar0TICs0

Question Number : 124 Question Id : 441009161566 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which component is NOT part of the Human Development Index?

Options :

1. % Life expectancy

2. % Education level

3. ¥ Per capita income

4. ¢ Military expenditure

Question Number : 124 Question Id : 441009161566 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

552885 08X JrDES’ 2760 52 ©0F0 DE?

Options :
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2. % Do°g PN

3. % S8 &8O

4. ¥ D8 35090

Question Number : 125 Question Id : 441009161568 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

The Government of India has launched several initiatives to boost economic growth and innovation. Which of the following initiatives is specifically designed to
enhance the manufacturing sector by integrating India into the global supply chain, and is built on the four pillars of New Processes, New Infrastructure, New
Sectors, and New Mindset?

Options :

1. # Start-up India
2. % Make in India
3. ¥ Digital India

4. % Skill India

Question Number : 125 Question Id : 441009161568 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

688 H9Q), v @3DNLBLDOE EredNTI JONE 278 |H2NE 50 @TE E5EITORD (PE0DOD0. eFrESHTEFTR) (DN dBHNT®
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Options :
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4. % ). Q0305

Question Number : 126 Question Id : 441009161538 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Consider the Assertion and Reason statements carefully and select the most appropriate option.

Assertion (A): Achieving sustainable development in India requires an integrated approach involving multiple stakeholders.
Reason (R): Government interventions alone are sufficient to address the complex environmental challenges facing India.

Options :

1. % Both A and R are true, and R is the correct explanation for A.

2. % Both A and R are true, but R is not the correct explanation for A.
3. ¥ Ais true but R is false.

4. % Ajis false but R is true.

Question Number : 126 Question Id : 441009161538 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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530 (R): 273350 CNT0608) DOSRTO DT80 DT EX0 HBDLB0ERE (5206 § B°5e5e0 S DO .
Options :
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Question Number : 127 Question Id : 441009161543 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

How do regulatory frameworks impact the growth and sustainability of Microfinance Institutions (MFIs) in India?
Options :

1. ¢ They impose strict lending caps and interest rate ceilings, affecting profitability.

2. ® They provide complete autonomy to MFIs, allowing unchecked expansion.

3. ¥ They encourage rapid urban expansion of microfinance services.

4. % They focus solely on digital financial inclusion, ignoring traditional methods.

Question Number : 127 Question Id : 441009161543 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 128 Question Id : 441009161549 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

How can expanding the tax base contribute to increased government revenue without changing tax rates?

Options :

1. ¢ By lowering the exemption threshold to include more taxpayers

2. # By increasing tariffs on imports

3. ¥ By providing more tax exemptions and deductions

4. % By focusing exclusively on corporate tax collection

Question Number : 128 Question Id : 441009161549 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 129 Question Id : 441009161551 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

How did the Green Revolution impact socio-economic disparities in rural India?

Options :

1. # Reduced income inequality across all regions

2. # Led to uniform economic growth in all rural areas

3. ¢ Increased disparities between large and small farmers due to differential access to technology

4. % Fostered equal distribution of agricultural resources

Question Number : 129 Question Id : 441009161551 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 130 Question Id : 441009161567 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Over its 10-year span, the "Make in India" initiative has aimed to transform India into a global manufacturing hub. Which strategy best exemplifies the
initiative's focus on enhancing India's competitiveness in the global market?

Options :

1. % Imposing higher tariffs on imported goods to protect local industries

2. % Prioritizing subsidies for traditional manufacturing sectors

3. ¥ Centralizing economic planning to ensure uniform development across sectors

4. ¥ Streamlining regulatory processes to attract foreign investment and foster innovation

Question Number : 130 Question Id : 441009161567 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

10 503507 559’ THE AS ROBOT! PSSO T ST° 2S5 FS S35l 58 )00 S5 ST )0 ©F SO WERZOA.
N0 S8y 2B SHTF0 T30, Fe3See D) DOFOAOTIHOD) B TNEY B9 & 5370 SO E5dTON0E?
Options :

1. % 708 HBIF0OD B8 0NEAE BN T DI @A HOSPeN OO0

2. % O(NTOD SAPE SO HD YA (s 550

3. % DS S0 DEES 9DSHA ATB0NTIE 305 (DerDES BoOEB0SE0

4. ¥ QBB DEPDOK 35008, e B (865 )30 QOO (EANE (020 EB05%0

Question Number : 131 Question Id : 441009185116 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements regarding disaster prevention and mitigation strategies:

1. Structural mitigation measures, such as flood barriers and earthquake-resistant buildings, help reduce the impact of disasters.
2. Early warning systems and community awareness programs are examples of non-structural mitigation strategies.

3. Disaster mitigation focuses only on post-disaster recovery and does not include preparedness measures.

Which of the above statements are correct?
Options :

1.+ Only 1 and 2

2. % Only2and 3

3. % Only 1 and 3

4. % 1,2, and 3

Question Number : 131 Question Id : 441009185116 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 132 Question Id : 441009185119 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
What is the primary purpose of an early warning system in disaster management?

Options :

1. % To provide financial aid after a disaster

2. % To alert communities of an impending disaster
3. ¥ To rebuild damaged infrastructure

4. ¥ To conduct post-disaster assessments

Question Number : 132 Question Id : 441009185119 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 133 Question Id : 441009185109 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which of the following factors contributes significantly to India's vulnerability to landslides?

Options :

1. ¥ Frequent volcanic activity in mountainous and hilly regions

2. ¢ Deforestation and heavy rainfall in mountainous regions

3. % Low population density

4. % Stable geological formations

Question Number : 133 Question Id : 441009185109 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 134 Question Id : 441009185122 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Match each disaster management strategy with its corresponding example:

Strategies Examples

A) Structural Mitigation 1) Public awareness campaigns
B) Non-Structural Mitigation 2) Tsunami detection buoys

C) Early Warning System 3) Seismic-resistant buildings
Options :

1. ¥ A-2,B-1,C-3
2.9¥ A-3,B-1,C-2
3. % A-1,B-2,C-3
4. % A-1,B-3,C-2

Question Number : 134 Question Id : 441009185122 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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3. % A-1,B-2,C-3
4. % A-1,B-3,C-2

Question Number : 135 Question Id : 441009185111 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Which of the following Indian states is most vulnerable to tsunamis?

Options :

1. # Rajasthan

2. ¥ Gujarat

3. % Tamil Nadu

4. % Punjab

Question Number : 135 Question Id : 441009185111 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 136 Question Id : 441009147865 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Two statements are given followed by two conclusions. Select which of the given conclusion(s) is/are true based on the given statement.

The changes in the population of two cities P and Q for the years 2018, 2019 and 2020 are as follows:

Population of city P was 1,80,600 in the year 2020 and it increased by 5% and 7.5% in 2019 and 2020, respectively. The population of city Q increased by 25%
in 2019 and, in the same year, it was equal to 150% of the population of city P in 2018. In city Q, due to the spread of some chronic diseases, the growth rate in
2020 was half of that of the previous year.

Statement A: For city Q, the male to female ratio for the years 2018, 2019 and 2020 was 5 : 7.
Statement B: For city Q, the number of literate males in 2019 to illiterate males in 2020 is in the ratio of 3 : 2.

Conclusion I: For city Q, the ratio of illiterate males in 2019 to literate males in 2020 was 16 : 27.
Conclusion II: For city Q, the number of illiterate males in 2020 was 57.58% less than the number of females in 2018.

Options :

1. ¢ Only conclusion I follows.

2. % Only conclusion II follows.

3. # Both conclusions I and II follow.

4. % Neither conclusion I nor conclusion II follows.

Question Number : 136 Question Id : 441009147865 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 137 Question Id : 441009147851 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33



Study the given graph and answer the question that follows.

The following chart shows the percentage distribution of the number of students of six different schools — P, Q, R, S, T and U, who have passed in three subjects
— Mathematics, Physics and Chemistry.
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Statement A: The number of students in School P is 5 times the average number of students in Schools R, S and T.
Statement B: The average number of students in Schools T and Q is one-fourth the sum of the students in Schools R and S.
Statement C: The number of students who have passed in Chemistry in School S is 450.

Statement D: The number of students in School P is 6,500.

Based on the information, select the correct option about the following conclusions.

Conclusion A: The number of students who have passed in Mathematics in school S is 31.82% less than the number of students who have passed in
Mathematics in school R.

Conclusion B: 1,980 students have passed in Mathematics in school R.

Conclusion C: The average number of students in schools R and T is 1,050.

Options :

1. ¥ Only Conclusion A follows.

2.+ Only Conclusion C follows.

3. # Only Conclusions A and C follow.
4. % Conclusions A, B and C follow.

Question Number : 137 Question Id : 441009147851 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 138 Question Id : 441009147883 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
The pie charts show the percentage quantity of fruits at two fruit shops A and B. Shop A and Shop B have 1500 kg and 1200 kg of fruits, respectively.

Shop A
Total fruits = 1500 kg

Shop B
Total fruits = 1200 kg

If the prices of mangoes, papaya, apples, oranges, strawberries and guava for shop A are ¥120/kg, T80/kg, 100/kg, I150/kg X160/kg and ¥90/kg and that for
shop B are 3250/kg, 120/kg, 3200/kg, X180/kg ¥300/kg and 100/kg respectively, then what is the difference between the weighted mean price per kg (in ) for
both the shops?

Options :

1. % 93.70
2.9 81.30
3. % 7550
4. % 90.20

Question Number : 138 Question Id : 441009147883 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 93.70
2.9 81.30
3. % 7550
4. % 90.20

Question Number : 139 Question Id : 441009147850 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Study the following graph and answer the question that follows.

The given bar graph shows the number of products (in thousands) sold by various brands, P, V, T, R, L and A, in 3 different months.
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The quantity of Brand L products sold in December is what percentage of the total sale of all brands' products sold in November? (Rounded off to two decimal
places.)

Options :

1. % 18.15%

2. % 19.16%

3.9 19.83%

4. % 21.18%

Question Number : 139 Question Id : 441009147850 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 18.15%
2. % 19.16%
3.9 19.83%
4. % 21.18%

Question Number : 140 Question Id : 441009147853 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Study the line graph and answer the question that follows.

The following line graph represents the distribution of employees across different grades/ranks in three companies: A, B, and C. However, the actual data for the
number of Assistant IT Managers in Companies B and C was missing and marked as zero.

FINANCIAL ASSISTANT ITMANAGER ASSISTANT IT MARKETING
MANAGER FINANCIAL MANAGER MANAGER
MANAGER

e Company A  =—@==Company B =——@==Company C

If 30% of the sum of all Marketing Managers in all the three companies is equal to the average number of Assistant IT Managers in Companies B and C, and the number of



Assistant IT Managers in B is twice the average number of Financial Managers in A, B and C, then the number of Assistant IT Managers in A is what percentage more/less than
the number of Assistant IT Managers in C?

Options :

1. % 40.66% More
2. % 40.66% Less
3. ¥ 42.86% More
4. % 42.86% Less

Question Number : 140 Question Id : 441009147853 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 40.66% Q8090
2. % 40.66% 80905
3.9 42.86% D803
4. % 42.86% 5509

Question Number : 141 Question Id : 441009147856 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Study the given graph and answer the question that follows.

The following bar graph shows the percentage distribution of the total expenditures of a company under various expense heads during 2021.
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If the difference between the expenditures on transport and taxes is 335 lakh, then what is the average expenditure on infrastructure, advertisement and interest
on loans?

Options :

1. % 21.45 lakh
2. % 2245 crore
3. % Z1.75 crore
4. % 3275 lakh

Question Number : 141 Question Id : 441009147856 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 142 Question Id : 441009147855 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33

Study the charts and answer the question that follows.

The following charts present data on the revenue of different car model sales for a particular car manufacturing company X over the past six years. The data is
presented in the form of two charts: Chart 1 shows the revenue shares (in percentage) of the car models manufactured by company X over the past six years, and
Chart 2 shows the revenue (in crores) generated by company X over the past six years.

Note: Company X manufactures only four types of car models; Model A, Model B, Model C and Model D.

Revenue shares of car models Revenue generated by Company X
manufactured by Company X in past six year(in crores)
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If x is the mean of revenue share (in crores) of models B and D in 2020 and y is the mean of revenue share (in crores) of models A and C in 2018, then which of
the following statements is correct?

Options :

1. % x—y=065.05
2.¥ y—x=067.05
3. % y4x=53271
4.% y+x=53471

Question Number : 142 Question Id : 441009147855 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % x—y=065.05
2.¥ y—x=067.05
3. % y+x=532.71
4. % y+x=7534.71

Question Number : 143 Question Id : 441009147859 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Study the table and answer the question that follows.

The following table shows the opening price, closing price, day’s high price and day’s low price for six shares, P, Q, R, S, T and U, for a particular day.

Share Opening Closing High Low
P 1700 1200 2400 900
Q 1200 1600 1700 900
R 1600 2300 2500 1200
S 1100 900 1400 800
T 900 500 1200 450
8] 1900 1400 2100 1200

Match Column | with Column Il based on the above information.

Column-|

Column-II

A: The share with the largest percentage decrease in price from its opening price
to its closing price

1.P

B: If an investor bought 10 shares of each share at its day's low price and sold
them at its day's high price, then the highest percentage profit is got from share:

2.T

C: The share with the highest intraday range (difference between day's high and
day's low).

3.R

Options :

1. % A-2,B-3,C-1

2. % A-2,B-20r3,C-1
3.9 A-2,B-10r2,C-1
4. % A-lor2,B-1,C-3

Question Number : 143 Question Id : 441009147859 Question Type : MCQ Negative Marks Display Text : 0.33

Correct Marks : 1 Wrong Marks : 0.33
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Options :
1. % A-2,B-3, C-1

2. % A-2,B-20r3,C-1
3.9 A-2,B-1o0r2, C-1
4. % A-lor2,B-1,C-3

Question Number : 144 Question Id : 441009147868 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Study the given graph and answer the question that follows.

The bar graph shows the production of wooden objects (cupboards, chairs and tables) by five carpenters C1, C2, C3, C4, and C5 in one month.

Wooden objects Carpenters
C1 Cc2 C3 C4 C5
Cupboards 8 20 15 10 30
Chairs 28 18 36 15 40
Tables 25 45 10 30 55

Match the statements of Column P to Column Q.

Column P Column Q
i. Average number of wooden items made by 1. 99
the five carpenters.
il Combined number of 20% of the cupboards, 2. 77

60% of the tables, and 50% of the chairs
made by the carpenters C2 and C5.

fith Difference between the 3. 144
combined number of chairs produced by
carpenters C1, C3, and C5 and combined
number of tables and cupboards made by all
the carpenters.

Options :

1.¥i-2,ii-landiii-3
2. % i-3,ii-1andiii-2
3.% i-2,ii-3andiii- 1
4. % i-1,ii-2andiii-3

Question Number : 144 Question Id : 441009147868 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Options :

1L.¥ -2, ii- 1 080 iii - 3
2.% i-3 ii- 108w iii - 2
3.0% i-2,1i- 3 0808 iii - 1
4. % §-1,ii-2 08X iii - 3

Question Number : 145 Question Id : 441009142716 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

The data set below gives the prices (in %) of a few items at a departmental store.

20, 40, 60, 50, 80

Find the variance of the data set.

Options :

1. # 200

2. % 300



3.9°400
4. % 500

Question Number : 146 Question Id : 441009142704 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

Find the standard deviation (rounded to one decimal place) of the following test data.
Test Scores: 20, 96, 104, 40, 60

Options :
1. % 312
2. 3211
3. % 337
4. % 346

Question Number : 147 Question Id : 441009142815 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

In a retail market, fruit vendors were selling mangoes kept in packing boxes. These boxes contained varying number of mangoes. The given table presents the
distribution of mangoes according to the number of boxes. Study the table and answer the question that follows.

Number of mangoes | 40 - 42 43-45 46 - 48 49 -51 52-54 55-57

Number of boxes 30 115 130 75 80 20

Find the mean number of mangoes (rounded to the nearest integer) kept in a packing box.
Options :

1. % 45

2.9°48

3. % 42

4. % 51

Question Number : 148 Question Id : 441009147862 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
Study the given graph and answer the question that follows.

The table shows the marks obtained by a certain number of students in class.

[ Class [0-10 [ 10-20 [ 20-30 [ 30-40 [ 40-50

| Frequency [12 | 28 [ x [ 25 [ 13

If the mean marks of the following data, calculated using the assumed mean method, is 24.9, what is the total number of students in the class?
Options :
1.+ 100
2. %110
3. % 120
4. % 130

Question Number : 148 Question Id : 441009147862 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33
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Options :
1.+ 100
2. % 110
3. % 120
4. % 130

Question Number : 149 Question Id : 441009142887 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

If the sum of the fourth power of the first n natural numbers is

nn+1)2n+1)3n? + 3n —1)
30 ’

then find the weighted arithmetic mean of the cubes of the first 'n' natural numbers, the weights being their corresponding natural numbers.
Options :
1o (n+1)(3n2+3—1)
15
o % UBn+1)(3n2+3n—1)
10



3. 0% 3(311+1)(3113+311—1)
15

4 % (n+1)(3n2+3n—1)
30

Question Number : 150 Question Id : 441009144242 Question Type : MCQ Negative Marks Display Text : 0.33
Correct Marks : 1 Wrong Marks : 0.33

The given table shows the weekly toy sales (in units) and the number of customers who purchased those quantities from a toy shop over a period of time. Study
the table and answer the question that follows.

Weekly Toy Sales Number of Customers
35-50 10

50 - 65 18

65 - 80 7

80 - 95 15

95-110 10

110 - 125 20

What is the median weekly toy sales?
Options :

1. % 65

2. % 68

3.% 75

4.9 85



